kg e EEEE#I6E105E
EEnh: +886-4-25565626

{HE.: +886-4-25569580

#aak: www.geko.com.tw

H2: sales@geko.com.tw

GEKOHE{X # B

Mk NS EI LR 101E E TS E R AE16F
Erh: 0519-85503155 / 85503955

{§E. 0519-85503133

fidtik: www.geko~-valves.com

. geko@geko-valves.com

» Taiwan Geko Valve Corporation.

Address:NO.10,Ln.36.Fuxing St.,
Houli Dist. Taichung City 421, Taiwan
Tel: +886-4-25565626

Fax: +886-4-25569580

URL: www.geko.com.tw

E-mail: sales@geko.com.tw

GEKO office in China

Address: 16th Floor Megete Building No.101 Qiyang
North Road,Changzhou 213000,F.R.China

Tel. 0519-85503155 / 85503955

Fax: 0519-85503133

URL: www.geko-valves.com

E-mail: geko@geko-valves.com

3

0038

EEIGEKORESIEHIHR AT
GEKO Fluid Control GmbH

www.geko-valves.com

ZEEGEKORESIEHIBRA T
GEKO Fluid Control GmbH

Ball valve Cryogenic Valve
High Purity Clean Ball Valve

IREBHIKE ., KR, ERFM

+ BEZHREMAEREN A DREERHELRLT

GEKO

Feb. 2016. 3000 CONTROL-VALVES




t

WO0D SaA|BA-0Ya b mmm

ABOUT GEKO
FLUID CONTROL GmbH

B {EF0E TR AT

GV enterprise Co., Ltd. was found in 2002. GV consists of professional developers,
designers, production personnel, and quality control personnel with years of experience.
We devote all our energy to combine advanced technologies. We integrated CNC lathes,
CNC internal machining, plastic injection, precision casting, aluminum and zinc die
casting, and stamping mechanical equipment (Equipment with operating programs :

Under strict quality control, TUV, ISO9001 quality assurance standards, and the pursuit of zero defect managements,
they have made our OEM and ODM adopted by world renowned petrochemical industry, optoelectronics industry,
biotechnology medical,semiconductor, and electronic chemical manufacturing .The current customers are Sinopec,
PetroChina, CNOOC, China Shenhua, China Coal, China Guodian Corporation, China Car, Vietnam power plant, including
GEKO, Omal, SFV ......etc. Our high self-request standards make us maintain the advantages of the international market,
and ultimately our products will be widely used in the world-renowned enterprises, such as GE, TYCO, GEA, HITACHI,
TOYO, POSCO, Samsung, ABB, TOTAL, BP, BASF, DOW, BAYER, ROCHE, LINDE, NOVARTIS, NESTLE, SYNGENTA,
TATA STEEL.

In 2016,to0 meet diverse needs of the customers around the world, Germany GEKO buy shares into GV. We
officially changed our name to Taiwan Geko Valve Corporation. We are in charge of the markets in Taiwan, Japan, Korea,
and other countries in Southeast Asia and the agency of product sales network. Relying assembly and testing center in

China, we will provide better services in Asian market.

=

GEKDO GKV-243

CONTROL-VALVES 3-WAY/4-WAY MOUNTING TYPE FLANGE END BALL VALVE

« L-PORT&T-PORT&X-PORT

« BLOW-OUT PROOF STEM/ FULL PORT —
« IS0 5211 DIRECT MOUNTING PAD >

« TEMPERATURE RANGE: -20 to 180°C

{GKV-243 PN16/40

= FLANGE DIMENSIONS:
EN 1092-1 TYPE 21 PN16/40(RF SF)
« TEST: EN-12266-1

GKV-243 CLASS 150#
+ FLANGE DIMENSIONS: ASME B16.5 CLASS150
« TEST: API-598

DZ2-4 R

MATERIALS LIST
l NO. PART NAME | MATERIAL | QTY
(‘ | 1 BODY | CF8M 1
l\\i 4 BALL CFBM 1
5 STEM | ss316 1
9 | END CAP | CF8M 4
bz P 1 BODY SEAL PTFE. 4
— 12 SEAT | PTFE. 4
[ 13 THRUST WASHER | PTFE. | 1
14 STEM PACKING PTFE. 1set
15 GLAND | 55304 | 1
— 19 HANDLE | 55304 1
21 HAMDLE COVER PLASTIC 1
H1 22 STEM NUT | 55304 1
4 23 HANDLE WASHER | Ss304 1
2 HANDLE NUT | 55304 !
R 29 BELLEVILLE WASHER | 55410 2
G /J/q//. A T I o 30 STOP WASHER 55304 1
@ N -"“*-"T 88 8 — 31| O-RING | vrmon 1
o J 32 PACKING FOLLOWER | PTFE+25GF | 1
'/ﬁfﬂfﬁ:r\ 33 STOP PIN | ss304 | 1set
8 @@G -t 35 BOLT | ss304 | 16
P e e 36 BOLT WASHER 55304 16
Lf2 T
L
1/2"~3" CLASS150 DIMENSIONS unitmm
sizé [port| L | e | Wil m [wa D |6 [ 3 |1 |7 Fl M| N |z1] 2 |s05211
1/2* | 160 |1474 |1B65 | 9.0 | 890D | 478 90 |890 |605 |350 [112 |160 4 16 |60 |~ | —"|Fos4
34" | 200 |1558 |2180 [ 110 | 980 | 582 | 90 | 986 |700 |430 |127 |160 | 4 | 16 |70 |_— | | Fo5
1* | 250 |1688 (2180 | 115 |1020 | 640 | 90 [1080 | 792 |510 |143 |160 | 4 16 |70 | —"| 7] Fos
1-1/4" | 320 |1979 |2350 | 152 [1185 | 790 [140 [1175 889 |635 (159 |160 | 4 | 16 |90 | 7.0 | Fo5 | Fo7
1-1/2" | 380 |2214 [2350 [143 [1270 [ 885 [140 [1270 [986 [732 [17.5 (160 | 4 | 15 |90 | 70 | Fos|ro7
2+ | 500 |2446 [2520 | 178 |139.0 |1058 |17.0 [1525 [1207 | 920 | 191 |160 | 4 | 19 |110 | 90 | Fo7| F10
2-1/2° | 650 |2700 |2520 | 175 |1657 |117.3 |17.0 [177.8 1397 |1047 | 233 |160 | 4 | 19 |110 | 90 | Fo7|F10
3 | 800 |2922 |2520 | 175 |1700 |1280 |17.0 |1905 [1524 (1270 | 239 |160 | 4 | 19 |110 | 90 | Fo7 | F10

DN15~DN8O0 PN 16 DIMENSIONS . . . . . R o _

| size [PorT | L | E HL| H | Ha D | G | |J I T | F M | N |z1 | z1 |1s05211
;DNJ_S | 16.0 5158.0 _135.5 | 9.0 | 290 | 478 | 9.0 .95-0 | 65.0 _45.0 | 16.0 | 2.0 | 14 | 6.0 | / FO4
|pnzo | 200 [169.0 |2180 | 115 | 980 | 582 | 9.0 (1050 | 750 (580 |180 | 20 14 |70 | / | F50
| pNzs | 250 [185.0 [2180 | 115 1020 | 640 | 90 1150 |850 680 |180 | 20 14 |70 |/ | Fos
|DN32 | 320 |195.0 |235.0 | 152 |1185 | 79.0 | 140 1400 [1000 780 [180 | 20 18 |90 | 7.0 |Fos5|Fo7
| DN4D | 380 |232.0 |2350 | 143 (1270 | 885 | 140 1500 1100 |88.0 |18.0 20 9.0 7.0 F055 FO7
| bnso | 500 [253.0 [2520 [ 17.8 |139.0 [1058 | 170 [1650 |1250 [1020 200 | 20 | 18 110 | 90 |fo7 | F10
| Dnes | 65.0 |2700 [2520 | 175 |1657 |117.3 | 17.0 |1850 |1450 [1220 [ 180 | 20 18 1110 | 90 |Fo7 | F10

| DNBo | 760 [2922 [2520 | 175 (1700 |1280 | 17.0 | 2000 |160.0 [1380 | 200 | 20 | 18 (110 | 90 [fo7 | F10| 01

[=-BREE N N R -
=
o




GKV-243 GKV-243

CONTROL=VALVES 3-WAY/4-WAY ISO 5211MOUNTING FLANGE END BALL VALVE TR LR 3-WAY/4-WAY FULL BORE FLANGE END BALL VALVE

DN100-DN150(4"~6") 3-WAY/4-WAY

GKV-243 PN16/40

L-PORT&T-PORT&X-PORT 4""'6"(DN100,DN125,DN150) MATERIALS LIST

« BLOW-OUT PROOF STEM/ FULL PORT o OART NAME VATERIAL | QTV
. TEMPERATURE RANGE: -20 to 180°C PN16/PN40, Class150 . BODY CFeMICFaWCB | 1
« FLANGE DIMENSIONS: i i i . AL ; L
EN 1092-1 TYPE 21 PN16/40(RF SF) T-PORT,L-PORT,X-PORT : crowers L
« TEST: EN-12266-1
9 END CAP CF8M/CF8/WCB 4
11 BODY SEAL PTFE 4
11-1 TOP SEAL PTFE 1
GKV-243 CLASS 150# g i:\aTUST WASHER 1:: ‘11
« L-PORT&T-PORT&X-PORT
« BLOW-OUT PROOF STEM/ FULL PORT 1 STEM PACKING PTFE LoET
« TEMPERATURE RANGE: -20 to 180°C 15 GLAND 55304 !
« FLAN GE DIMENSIONS: ASME B16.5 CLASS150 16 BELLEVILLEWASHER | S5304 2
« TEST: API-598 E‘ é 17 STEM BUSHING PTFE 1
4 18 TAB WASHER SS304 1
19 HANDLE IRON TUBE 1
MATERIALS LIST . 20 BUSHING RTFE 1
NO. EgFgYNAME e X:;IiRGlAIEWM QTY T 21 HANDLE COVER PLASTIC 1
1 r. 1
4 | BALL ASTM A351 Gr.CFaM| 1 22 STEM NUT 55304 1
5 STEM SS316 1 23 WASHER SS304 1
9 END CAP ASTM A351 Gr.CF8M| 4 855 f.E 24 TRIANGLE STOPPER SS304 1
11 BODY SEAL PTFE 4 28 HANDLE WASHER SS304 1
1112—1 ;’S:TSEAL ;I:I;E 1 29 HANDLE BOLT SS304 1
4
13 | THRUST WASHER PTFE 1 35-1 BODY BOLT $S304 24
14 STEM PACKING PTFE 1 set oNxM 35-2 BOLT NUT SS304 6
E 15 GLAND ASTM A351 Gr.CF8 1 37-1 BOLT NUT SS304 24
15-1 GLAND BUSH SS304 1 37-2 BOLT NUT SS304 6
| 17 STEM BUSHING PTFE 1
I = 7 | | 19 HANDLE LRON 1
T O & 20 | BUSHING PTFE 1
37- 21 HANDLE COVER PLASTIC 1
& = (5- 28 STOP PLATE SS304 1
© — | 9 2 35 BODY BOLT SS304 2
T o — 35-1| BODY BOLT SS304 16and24
35-2 BODY BOLT SS304 4and6
/ \ sé 37 | BOLT NUT SS304 2 DN100~DN150 PN16 unit:mm
o|-|=| E 37-1 BOLT NUT SS304 16and24
- SIZE PORT | L E H1 |H2 | C @G| @) | @I | T F M | ON| @K | Z
<0 SRR 37-2|  BOLT NUT 55304 4ands
\ / @ ;‘; :ﬁﬁgﬁfmm gg;gj i DN100 | 100.0 |360.0/600.0/159.0/ 30.0 | 27.0 |220.0/180.0/158.0| 20.0 | 2.0 | 8.0 | 18.0 |125.0| 14.0
— DN125 | 125.0 |410.0/600.0/210.0/ 30.0 | 27.0 |250.0/210.0/ 188.0| 22.0 | 2.0 | 8.0 | 18.0 |125.0| 14.0
L2 DDO [ Rt DN150 | 150.0 |467.0/800.0/239.0| 36.0 | 36.0 |285.0/240.0/ 212.0| 22.0 | 2.0 | 8.0 | 22.0 |140.0| 17.5
L
416" Class 150 DN100~DN150 PN40
SIZE PORT L E H1 H2 H3 C G ) o1 T F M ON | OK Z
4 100 |368.0| 600 | 70.0 | 33.0 [193.0 | 27.0 |228.6 190.5 |157.2 239 | 1.6 | 8 [19.0 | 125 | M12X1.75P SIZE PORT L E H1l | H2 C G a) ol T F M ON | @K Z
¥ | 125 |4200) 600 1700 330 123301270 2540|2160 1860 | 240 | 16 | 8 223 125 | MIZXL75P DN100 | 100.0 360.0/600.0/159.0/ 30.0 | 27.0 |235.0/190.0/158.0| 240 | 2.0 | 80 | 22.0 |125.0| 14.0
6" 150 [479.4 | 800 | 77.5 | 43.5 |266.0 | 36.0 |279.4 |241.3 |216.0 | 254 | 1.6 8 22.3 | 140 | M16X2.0P
DN125 | 125.0 |410.0/600.0/210.0 30.0 | 27.0 | 270.0/220.0/188.0| 26.0 | 2.0 | 8.0 | 26.0 | 125.0| 14.0
DN100~DN150 PN16 unim DN150 | 150.0 |467.0/800.0/239.0/ 36.0 | 36.0 |300.0/250.0/212.0| 280 | 2.0 | 80 | 26.0|140.0/ 175
SIZE PORT L E H1 H2 H3 C aG agJ [%]] T F M N K z
DN100 100 360 | 600 | 70.0 | 33.0 |193.0 | 27.0 |220.0 {180.0 {158.0 | 20.0 2.0 8 18 125 M12X1.75P
DN125 125 416 | 600 | 70.0 | 33.0 (233.0 | 27.0 |250.0 |210.0 |188.0 | 22.0 2.0 8 18 125 M12X1.75P " n
DN150 150 473 | 800 | 77.5 | 43.5 (266.0 | 36.0 |285.0 |240.0 |212.0 | 22.0 2.0 8 22 140 M16X2.0P 4 6 CLASS 150
DNL00- D150 P4 SIZE PORT | L E HL |H2 | C @G| @) | @1 | T F M | ON| @K | Z
~ unit:mm
sz Tromr L T2 1w T2 [ 1o (a6 a0 o T TF Tw Tan Tak . 4" 100.0 |368.0 600.0/ 159.0/ 30.0 | 27.0 1228.6/190.5/157.2/ 239 | 1.6 | 8.0 | 19.0 |125.0| 14.0
DN100 | 100 | 360 | 600 | 70.0 | 33.0 [193.0 | 27.0 |235.0 |190.0 |158.0 | 24.0 | 20 | 8 | 22 | 125 | M12X1.75P 5" 125.0 |420.0/600.0/210.0| 30.0 | 27.0 | 254.0/216.0/186.0| 240 | 1.6 | 8.0 | 22.3 |125.0 14.0
DN125 125 424 | 600 |70.0 | 33.0 |233.0 | 27.0 |270.0 (220.0 |188.0 | 26.0 2.0 8 26 125 M12X1.75P B
vise 150 203 200 1775 Taas 2600 a5 o000 oo lerso 250 1 20 1 5 26 100 | sriexao 6 150.0 |479.4/800.0/1239.0| 36.0 | 36.0 |279.4/241.3 216.0| 254 | 1.6 | 8.0 | 22.3 |140.0| 17.5

02 03



GEKO GKV-225 GEKO GKV-225

CONTROL-VALVES FULL PORT TWO-PIECE DIRECT MOUNTING PAD BALL VALVE FLANGE END CONTROL-VALVES FULL PORT TWO-PIECE DIRECT MOUNTING PAD BALL VALVE FLANGE END

DIMENSIONS
GKV-225 PN16/40 ]
« BLOW-OUT PROOF STEM/ FULL PORT GKV-225 DN15-DN50 PN50 PN16/40, DN65-DN100 PN16 unit:mm
« ISO 5211 DIRECT MOUNTING PAD SIZE PORT L E H2 H3 C 2G @) ol T F M oN oK | oK1 | z-4 | 714
« TEMPERATURE RANGE: -20 to 180°C DN15 1/2" 15.0 115.0 112 85 48 9.0 95.0 65.0 45.0 16.0 2.0 4 14.0 50.0 36.0 7.0 6.0
. DESIGN:EN12516-1 DN20 | 3/4" | 200 [1200 | 112 8.5 62 90 [1050 | 750 | 580 | 180 2.0 4 140 | 500 | 360 7.0 6.0
DN25 1" 250 [1250 | 136 | 114 64 90 [1150 | 850 | 680 | 180 2.0 4 140 | 500 | 360 7.0 6.0
* FLANGE DIMENSIONS: EN 1092-1 TYPE 21 PN16/40(RF SF) DN32 |1-1/4" | 320 [1300 | 185 | 114 71 90 (1400 1000 | 780 | 180 2.0 4 180 | 500 | 360 7.0 6.0
+ FACETO FACE:EN 558-1 F4/F5(DIN 3202 F4/F5) DN40 [1-1/2" | 380 [1400 | 198 | 14.0 76 | 140 [1500 |110.0 | 88.0 | 180 2.0 4 180 | 700 | 50.0 9.0 7.0
¢ TEST: EN-12266-1 _ DN50 | 2° | 500 |1500 | 198 | 137 | 845 | 140 |1650 |1250 |1020 | 200 | 2.0 4 | 180 | 700 | 500 | 90 | 70
= DN65 |2-1/2" | 640 [1700 | 265 | 180 [1068 | 170 |1850 [1450 |1220 | 180 2.0 4 180 [1020 | 700 | 110 9.0
GKV-225 CLASS 150# 300# DN80 3" 760 |1800 | 265 | 180 [1160 | 170 [2000 [160.0 |1380 | 20.0 20 8 180 [1020 | 700 | 110 9.0
DN100 4" 1000 |190.0 | 325 | 180 [1545 | 170 [220.0 |180.0 [158.0 | 20.0 2.0 8 180 [1020 | 700 | 11.0 9.0
« BLOW-OUT PROOF STEM/ FULL PORT
« ISO 5211 DIRECT MOUNTING PAD GKV-225 DN65-DN100 PN40
« TEMPERATURE RANGE: -20 to 180°C
. DESIGN:ANSI B16.34 SIZE PORT L E H2 H3 c oG @) ) T F M oN oK | oKl | z-4 |z1-4
« FLANGE DIMENSIONS: ASME B16.5 CLASS150 DN65 [2-1/2" | 640 [1700 265 | 180 [1068 |17.0 |1850 [1450 [122.0 | 22.0 2.0 8 180 |1020 | 700 |11.0 9.0
DN80 3" 760 |180.0 265 [ 180 [1160 |17.0 |2000 |160.0 [138.0 | 24.0 20 8 180 |1020 | 700 | 110 9.0
: i’:g?Tg PFIAESQASM EB16.1 DN100 | 4" 1000 [1900 325 | 180 |1545 |17.0 2350 [190.0 |158.0 | 24.0 2.0 8 220 |1020 | 700 |11.0 9.0
Pressure test:API 598 GKV-225 1/2"~4"Class150
GKV-225 JIS-10K SIZE PORT L E H2 H3 [ 2G o) ol T F M | oN | oK oK1 74 | 71-4
DN15 | 1/2" [ 150 [108.0 | 112 8.5 48 90 |890 |605 |350 |112 | 16 | 4 | 160 |50 |FOo5 |36 [F03 | 7.0 6.0
« BLOW-OUT PROOF STEM/ FULL PORT DN20 | 3/4" ] 200 [117.0 | 112 8.5 62 90 | 986 | 700 |430 [127 | 16 |4 |160 |50 |FO5 |36 [FO3 | 7.0 6.0
+ ISO 5211 DIRECT MOUNTING PAD DN25 | 1" | 250 1270 | 136 | 114 | 64 | 90 1080 | 792 | 510 |143 | 1.6 | 4 | 160 |50 |Fo5 |36 |F03 | 70 | 60
« TEMPERATURE RANGE: -20 to 180°C DN32 |1-1/4" | 320 [1400 | 185 | 114 71 9.0 [1175 | 889 | 635 |159 1.6 4 | 160 |50 |FO5 |36 |FO3 | 7.0 6.0
« DESIGN:ANSIB16.34 DN40 [1-1/2" | 380 [1650 | 198 | 14.0 76 | 140 |1270 | 986 | 732 |175 | 16 | 4 |160 |70 |FO7 |50 [Fo5 | 9.0 7.0
« FLANGE DIMENSIONS: JIS B2238 10K DN50 2 500 [178.0 | 198 | 137 [ 845 |140 [1525 (1207 | 920 | 191 | 16 | 4 | 190 |70 [Fo7 |50 [Fo5 | 9.0 7.0
. FACE TO FACE: JIS B2002 (ASME B16.1) DN65 [2-1/2" | 640 |190.0 | 265 | 180 [1068 | 17.0 [1778 [139.7 [1047 |233 | 1.6 | 4 | 190 102 [F10 |70 |F07 | 11.0 | 9.0
. DN80 3" 760 [203.0 | 265 | 180 1160 | 170 [1905 |1524 [127.0 | 239 | 16 | 4 | 190 [102 |F10 |70 |FO7 [ 110 | 9.0
* TEST: API-598 DN100 | 4" [100.0 [229.0 | 325 |18.0 [1545 |17.0 [2286 [1905 |157.2 [ 239 | 16 | 8 |19.0 |102 |F10 |70 |FO7 | 11.0 | 9.0
GKV-225 GB-PN16/40 GKV-225 1/2"~4"Class300
+ BLOW-OUT PROOF STEM/ FULL PORT SIZE PORT | L E H2 | H3 c oG | o o1 T F M | ON oK oKL 74 | 714
e [ISO5211 DIRECT MOUNTING PAD DN15 | 1/2" | 150 [140.0 | 112 8.5 48 9.0 | 953 | 665 | 350 |143 1.6 4 160 |50 |FO5 | 36 |FO3 | 7.0 6.0
« TEMPERATURE RANGE: -20 to 180°C . . DN20 | 3/4" | 200 |1520 | 112 | 85 62 90 [1174 [ 826 |430 |159 | 16 4 191 |50 |FO5 | 36 |FO3 | 7.0 6.0
© DESIGN.GB/T- 12237 214 oKy oKl | @) N> [T/ 300 Ti7e0 T 1o Tire |71 T o0 Tissa Tone ess Tao1 |16 T4 Tao1 10 fros [ 36 Tros T30 0
: E&é';?g E:\C/IIIEE'EISSBI/(?I'NISZ p Sf/ T-9113.1 Z-4 i \ /@ DN40 [1-1/2" | 380 |190.0 | 198 | 14.0 76 | 140 |[1555 |1143 | 732 [ 206 | 16 4 [ 223 [70 [F07 | 50 [Fo5 | 9.0 7.0
: DN50 2 1500 [2160 | 198 |137 [ 845 [140 |1651 [127.0 | 920 | 224 | 16 8 191 |70 |Fo7 | 50 |Fo5 | 9.0 7.0
« TEST:GB/T-13927 DN65 |2-1/2" | 640 |241.0 | 265 | 180 |1068 | 170 |190.5 |149.4 |1047 | 254 | 16 8 | 223 [102 |F10 | 70 |Fo7 | 110 | 9.0
[ RENZ | DN80 3" | 760 2830 | 265 | 180 [1160 | 170 [209.6 |168.1 |1270 | 286 | 16 8 | 223 [102 |F10 [ 70 |FO7 | 11.0 | 9.0
\ ;// DN100 | 4" [100.0 [3050 | 325 | 180 |1545 |17.0 |254.0 [200.2 [1572 [318 | 16 8 | 223 [102 |F10 [ 70 |F07 | 110 | 9.0
@/ /@ GKV-225 10K 15A-100A
c /@ SIZE PORT L E H2 H3 C 2G ) ol T F M oON oK | oK1 | z4 |Z714
= 12 15A 150 [108.0 | 112 8.5 48 90 [950 | 700 |510 |120 1.0 4 150 | 500 | 36.0 7.0 6.0
- 20A 200 [117.0 | 112 8.5 62 90 (1000 | 750 | 560 | 140 1.0 4 150 | 500 | 36.0 7.0 6.0
;-7E4-‘ 18 25A 250 [1270 | 136 | 114 64 90 [1250 | 900 | 67.0 | 14.0 1.0 4 190 | 500 | 360 7.0 6.0
( 13 324 320 [1400 | 185 | 114 71 90 [1350 1000 | 760 | 16.0 2.0 4 190 | 500 | 360 7.0 6.0
m 7 40A 380 |1650 | 198 | 14.0 76 | 140 [1400 |1050 | 81.0 | 160 2.0 4 190 | 700 | 500 9.0 7.0
50A 500 (1780 | 198 | 137 | 845 |140 1550 [1200 | 960 | 16.0 2.0 4 190 | 700 | 500 9.0 7.0
10 65A 640 [1900 | 265 | 180 [1068 | 170 [1750 |1400 |1160 | 18.0 2.0 4 190 [1020 | 700 | 11.0 9.0
, i 9 80A 760 [203.0 | 265 | 180 [1160 | 170 [1850 [1500 |1260 | 18.0 2.0 8 190 [1020 | 700 | 110 9.0
H3 I 100A 1000 [2290 | 325 | 180 |1545 [ 170 2100 [1750 [151.0 | 18.0 2.0 8 190 [1020 | 700 | 110 9.0
0G oJ O PORT \® GKV-225 GB DN15-DN50 PN16/40, DN65-DN100 PN16
—| \® SIZE PORT L E H2 H3 C 2G 2J ol T F M oN oK | oK1 | z4 | 714
\@ DN15 | 1/2" | 150 [1300 | 112 8.5 48 90 [ 950 | 650 |460 | 140 2.0 4 140 | 500 | 360 7.0 6.0
3 fk DN20 | 3/4" | 200 [1300 | 112 8.5 62 90 (1050 | 750 | 560 | 160 2.0 4 140 | 500 | 360 7.0 6.0
— \@ DN25 1" 250 [1400 | 136 | 114 64 90 [1150 | 850 | 650 | 160 2.0 4 140 | 500 | 360 7.0 6.0
\qu N \@ DN32 |1-1/4" | 320 |1650 | 185 | 114 71 90 [1400 1000 | 780 | 180 2.0 4 180 | 500 | 36.0 7.0 6.0
DN40 |1-1/2" | 380 [1650 | 198 | 14.0 76 | 140 [1500 |1100 | 840 | 20.0 2.0 4 180 | 700 | 50.0 9.0 7.0
F$7T4* \@ DN50 2 500 [203.0 | 198 | 137 | 845 |140 1650 [1250 [99.0 | 200 2.0 4 180 | 700 | 50.0 9.0 7.0
L \@ DN65 |2-1/2" | 640 [2220 | 265 | 180 [1068 | 170 |1850 [1450 |118.0 | 20.0 2.0 4 180 [1020 | 700 | 11.0 9.0
DN80 3" 760 [241.0 | 265 | 180 [1160 | 170 [2000 [1600 |1320 | 200 2.0 8 180 [1020 | 700 | 110 9.0
DN100 4" 1000 [3050 | 325 | 180 [1545 | 17.0 [220.0 |180.0 [156.0 | 22.0 2.0 3 180 [1020 | 700 | 11.0 9.0

04 05



06

GKV-225 1/2"~4"

GEKO

CONTROL-VALVES

MATERIALS LIST

GKV-225

FULL PORT TWO-PIECE DIRECT MOUNTING PAD BALL VALVE FLANGE END

mMAXZ

R AR

NO. PART NAME JIS-10K PN16/40 CLASS150/300
1 BODY SCS13 1.4408 1.0619 CF8M WCB
2 BALL SCS13 CF8M CF8 SS316 CF8
3 STEM 55304 SS316 55304 SS316 SS316
4 END CAP SCS13 14408 11.0619 CF8M WCB
5 BODY SEAL PTFE. PTFE. PTFE. PTFE. PTFE.
6 SEAT RTFE. RTFE. RTFE. RTFE. RTFE.
7 THRUST WASHER PTFE. PTFE. PTFE. PTFE. PTFE.
8 STEM PACKING PTFE. PTFE. PTFE. PTFE. PTFE.
9 THRUST WASHER RTFE.+25%G.F. RTFE.+25%G.F. RTFE.+25%G.F.
10 GLAND S5304 SS304 55304 55304 $S304
11 HANDLE SS304 $S304 SS304 S5304 SS304
12 HANDLE COVER PLASTIC PLASTIC PLASTIC PLASTIC PLASTIC
13 STEM NUT 55304 S5304 55304 55304 S5304
14 HANDLE WASHER SS304 SS304 S5304 S5304 §S304
15 HANDLE NUT 55304 S5304 55304 55304 SS304
16 LOCKING PAD SS304 SS304 S5304 S5304 $S304
17 BELLEVILLE WASHER SS304 SS304 55304 55304 SS304
18 STOP WASHER SS304 SS304 SS304 S5304 SS304
19 STEM O-RING VITON VITON VITON VITON VITON
20 STOP 55304 S5304 558304 55304 SS304
21 STUD A193 Gr.B8 A193 GrB8 A193 GrB8 A193 GrB8 A193 Gr.B8
22 NUT Al194 Gr.8 A194 Gr.8 Al194 Gr.8 Al194 Gr.8 A194 Gr.8

Straight Port

15° V-Prot

30° V-Prot

60° V-Prot

GEKO

CONTROL-VALVES

GKV-225

FULL PORT TWO-PIECE DIRECT MOUNTING PAD BALL VALVE FLANGE END

®

GKV-225 DN125-DN150
PN16/PN40(EN-1092)
Class150/300(ASME-B16.5)
JIS-10K(JIS-B2238)
PN16,GB/T9113.1

MATERIALS LIST

16 NO.|  PART NAME MATERIAL
1 | BODY CF8M/1.4408/CF8/1.4308/WCB/1.0619
. 1 2 | BALL CF8M/CF8
14 3 | STEM $5316/304
CHL 4 | ENDCAP CF8M/1.4408/CF8/1.4308/WCB/1.0619
1| 13 5 BODY SEAL PTFE.
[ Il — = 6 | SEAT RTFE.
7 | THRUST WASHER RTFE.
17 8 | STEM PACKING RTFE.
- 9 | THRUST WASHER PTFE.+25%G.F.
: 10 | GLAND SS304
H3 9 ) 11 | HANDLE FCD45
, 13 | STEMNUT SS304
[ 14 | _BOLT 5304
7 15 | TRIANGLE STOPPER SS304
16 | HANDLE WASHER SS304
@G @) @I PORT 18 STEM O-RING VITON
/@ 19 | STOP SS5304
20 | STUD ASTM A193 Gr.B8
4 —(:) 21 | NUT ASTM A194 Gr.8
\M N V-Ball
= —0 ;
T —f]
GKV-225 PN16, DN125~DN150(EN-1092-1) unitmm
SIZE PORT L E H1 H3 C G ?) o1 T F M oN oKL | Z1-4
DN125 5" 125.0 | 3250 | 7500 | 300 | 1940 | 27.0 | 2500 | 2100 | 1880 | 22.0 2.0 8 180 | 1250 | 140
DN150 6" 150.0 | 3500 | 7500 | 300 | 213.0 | 27.0 | 2850 | 2400 | 2120 | 22.0 2.0 8 220 | 1250 | 140
GKV-225 PN40, DN125~DN150(EN-1092-1) unit:mm
SIZE PORT L E H1 H3 C G 2) o1 T F M oN oKL | Z1-4
DN125 5 125.0 | 3250 | 7500 | 300 | 1940 | 27.0 | 2700 | 2200 | 1880 | 26.0 2.0 8 260 | 1250 | 140
DN150 6" 150.0 | 3500 | 7500 | 300 | 2130 | 27.0 | 3000 | 2500 | 2180 | 28.0 2.0 8 260 | 1250 | 140
GKV-225 150#,5"~6"(ASME-B16.5 Class150) unit:mm
SIZE PORT L E H1 H3 C G () o1 T F M oN oK1 | Z1-4
DN125 5 1250 | 3560 | 7500 | 300 | 1940 | 27.0 | 2540 | 2160 | 1860 | 24.0 16 8 223 | 1250 | 140
DN150 6" 150.0 | 3940 | 7500 | 300 | 2130 | 27.0 | 2794 | 2410 | 2160 | 254 16 8 223 | 1250 | 140
GKV-225 300#,5"~6"(ASME-B16.5 Class300) unit:mm
SIZE PORT L E H1 H3 C G () o1 T F M oN oK1 | Z1-4
DN125 5 1250 | 3810 | 7500 | 300 | 1940 | 27.0 | 2794 | 2350 | 1880 | 35.0 16 8 223 | 1250 | 140
DN150 6" 150.0 | 4030 | 7500 | 300 | 2130 | 27.0 | 3175 | 2698 | 2160 | 36.6 16 8 223 | 1250 | 140
GKV-225 10K, 125A~150A(JIS-B2238 10K) unit:mm
SIZE PORT L E H1 H3 C G ) o1 T F M oN oK1 | Z1-4
125A 5" 1250 | 3560 | 7500 | 300 | 1940 | 270 | 2500 | 2100 | 186.0 | 20.0 2.0 8 230 | 1250 | 140
150A 6" 150.0 | 3940 | 7500 | 300 | 2130 | 27.0 | 2800 | 2400 | 2120 | 22.0 2.0 8 230 | 1250 | 140
GKV-225 PN16,DN125~DN150(GB/T9113.1) unit:mm
SIZE PORT L E H1 H3 C G 2) o1 T F M oN oK1 | Z1-4
DN125 5" 1250 | 3560 | 7500 | 300 | 1940 | 27.0 | 2500 | 2100 | 1880 | 22.0 2.0 8 180 | 1250 | 140
DN150 6" 150.0 | 3940 | 7500 | 300 | 2130 | 27.0 | 2850 | 2400 | 2120 | 22.0 2.0 8 220 | 1250 | 140 07




GEKO

CONTROL-VALVES

GKV-225L

GKV-225L~DN15 DN100(1/2"~4")

* BLOW-OUT PROOF STEM/ FULL PORT
» ISO 5211 MOUNTING FLANGE
« TEMPERATURE RANGE: -20 to 180°C

GKV-225L PN16/PN40

» DESIGN:EN12516-1

* FLANGE DIMENSIONS: EN 1092-1 TYPE 21 PN16/40(RF SF)
» FACE TO FACE:EN 558-1 F4/F5(DIN 3202 F4/F5)

e TEST: EN-12266-1

GKV-225L 150# 300#

» DESIGN:ANSIB16.34

 FLANGE DIMENSIONS: ASMEB16.5 CLASS150/300
» FACE TO FACE: ASME B16.1

» TEST: API-598

GKV-225L 10K

« DESIGN:ANSIB16.34

e FLANGE DIMENSIONS: JISB2238
10K

» FACE TO FACE: JISB2002 (ANSIB16.1)

FULL PORT TWO-PIECE BALL VALVE FLANGE END

From 2-1/2 with pipe handie for
long term&smooth usage

E

4

I

L

(

GEKO

CONTROL-VALVES

GKV-225L

FULL PORT TWO-PIECE BALL VALVE FLANGE END

GKV-225L DN15~DN100 ( 1/2"~4")
GKV-225L PN16/40 DN15-DN50

2G @ gl PORT

Mx@N

DRAWING FOR 2"TO 4"

unitmm

SIZE PORT L E H H2 H4 C aY 2G [4))] %)) T F M @N oK z
DN15 1/2" 150 |115.0 [132.0 | 80.0 8.5 38.5 9.0 11.2 950 | 650 |450 |16.0 2.0 4 140 | 420 M5*0.8P
DN20 3/4" 20.0 |[120.0 |[132.0 | 84.5 8.5 42.5 9.0 112 |1050 | 750 |580 | 18.0 2.0 4 140 | 420 M5*0.8P
DN25 1" 25.0 |[125.0 |[166.0 [102.0 | 12.0 520 |11.0 |143 |[1150 |85.0 |68.0 | 18.0 2.0 4 140 | 50.0 M6*1.0P
DN32 11/4" | 32.0 |[130.0 |[166.0 |[105.0 | 12.0 560 |11.0 |143 |[140.0 |100.0 | 78.0 | 18.0 2.0 4 18.0 | 50.0 M6*1.0P
DN40 11/2" | 38.0 |[140.0 (1980 (1250 |120 | 653 |140 |180 |150.0 |110.0 | 88.0 | 18.0 2.0 4 18.0 | 70.0 | M8*1.25P
DN50 2" 50.0 |[150.0 |(198.0 (1320 |120 |73.8 |140 |[180 |1650 |1250 |102.0 | 20.0 2.0 4 18.0 | 70.0 | M8*1.25P
GKV-225L PN16/40 DN65-DN100

SIZE PORT L E H H2 H4 C [2)4 G [4)] [4) T F M ON oK Z
DN65 21/2" | 64.0 [170.0 [300.0 (1780 |23.0 |925 |170 |223 (1850 |1450 |122.0 | 18.0 2.0 4 18.0 |(102.0 | M10*1.5P
DN80 3" 76.0 |180.0 |300.0 |188.0 | 23.0 (1017 |17.0 |223 |200.0 |160.0 |138.0 | 20.0 2.0 8 18.0 (102.0 | M10*1.5P
DN100 4" 100.0 |190.0 |450.0 |202.0 | 23.0 |119.0 |17.0 |223 |220.0 |180.0 |158.0 | 20.0 2.0 8 18.0 |(102.0 | M10*1.5P
GKV-225L 1/2"~4" (ANSI-Class 150#)

SIZE PORT L E H H2 H4 C QY G @) [4)) T F M ON oK z
DN15 1/2" 150 |108.0 [132.0 | 80.0 8.5 38.5 6.4 9.6 89.0 | 605 |350 |11.2 1.6 4 16.0 | 420 M5*0.8P
DN20 3/4" 20.0 |117.0 |132.0 | 845 8.5 42.5 6.4 9.6 98.6 |70.0 |430 |127 1.6 4 16.0 | 42.0 M5*0.8P
DN25 1" 250 [127.0 [166.0 [102.0 | 12.0 | 52.0 80 |11.2 |1080 | 79.2 |510 | 143 1.6 4 16.0 | 50.0 M6*1.0P
DN32 11/4" 320 |(140.0 |[166.0 (1050 | 120 | 56.0 80 |[11.2 1175 | 889 |63.5 |159 1.6 4 16.0 | 50.0 M6*1.0P
DN40 11/2" 38.0 |165.0 |198.0 |125.0 | 120 | 65.3 9.5 160 [127.0 | 986 | 73.2 |175 1.6 4 16.0 | 70.0 | M8*1.25P
DN50 2" 50.0 |[178.0 |[198.0 |[132.0 | 120 | 73.8 9.5 16.0 |152.5 [120.7 | 92.0 19.1 1.6 4 19.0 70.0 | M8*1.25P
DN65 21/2" | 640 [190.0 (300.0 (178.0 |23.0 |925 |170 |[280 (177.8 |139.7 |104.7 | 233 1.6 4 19.0 |[102.0 | M10*1.5P
DN80 3" 76.0 |203.0 |300.0 |188.0 | 23.0 (1017 |17.0 |280 |190.5 |1524 |127.0 | 239 1.6 4 19.0 |(102.0 | M10*1.5P
DN100 4" 100.0 |229.0 |450.0 |202.0 | 23.0 |119.0 |17.0 |28.0 |2286 |191.0 |157.2 | 23.9 1.6 8 19.0 |[102.0 | M10*1.5P

GKV-225L 1/2"~4" (ANSI-Class 300#) unit-mm
SIZE PORT E H H2 H4 C [9)% G [4)] Q1 T F M ON oK YA
1/2" 150 |[140.0 |132.0 | 80.0 8.5 38.5 6.4 9.6 95.3 66.5 35.0 14.3 1.6 4 16.0 42.0 M5*0.8P
3/4" 20.0 [152.0 [1320 | 845 8.5 42.5 6.4 96 |1174 | 82.6 43.0 15.9 1.6 4 19.1 42.0 M5*0.8P

1" 250 |[165.0 [166.0 |102.0 | 12.0 52.0 8.0 11.2 |124.0 | 889 51.0 17.5 1.6 4 19.1 50.0 M6*1.0P
11/4" 320 (1780 |166.0 |105.0 | 12.0 56.0 8.0 11.2 |1334 | 986 63.5 19.1 1.6 4 19.1 50.0 M6*1.0P
11/2" 38.0 (190.0 |198.0 |125.0 | 12.0 65.3 9.5 16.0 |155.5 |114.3 | 73.2 20.7 1.6 4 22.3 70.0 M8*1.25P
2" 50.0 |216.0 (198.0 |132.0 | 12.0 73.8 9.5 16.0 |165.1 |127.0 | 92.0 22.3 1.6 8 19.1 70.0 M8*1.25P
21/2" 64.0 [241.0 |300.0 |178.0 | 23.0 92.5 17.0 |28.0 |190.5 |1494 (1047 | 254 1.6 8 223 1020 | M10*1.5P
3" 76.0 [283.0 |300.0 |188.0 | 23.0 (1017 |17.0 |280 [209.6 |[168.1 |127.0 | 28.6 1.6 8 223 1020 | M10*1.5P
4" 100.0 |305.0 |450.0 [202.0 | 23.0 |119.0 |17.0 |[28.0 |254.0 |200.2 |157.2 | 31.8 1.6 8 223 1020 | M10*1.5P

GKV-225L 10K 15A-100A(JIS-10K)

SIZE PORT L E H H2 H4 C QY G @) [4) T F M ON K VA
15A 1/2" 150 |(108.0 [132.0 | 80.0 8.5 38.5 6.4 9.6 950 |70.0 |51.0 |12.0 1.0 4 150 |42.0 M5*0.8P
20A 3/4" 20.0 (117.0 [132.0 | 84.5 8.5 42.5 6.4 9.6 (1000 | 750 |56.0 |14.0 1.0 4 150 |42.0 M5*0.8P
25A 1 250 |[127.0 |166.0 [102.0 | 12.0 52.0 80 |[11.2 1250 |90.0 |67.0 |14.0 1.0 4 19.0 | 50.0 M6*1.0P
32A 11/4" 32.0 |140.0 |166.0 |105.0 | 12.0 56.0 80 |11.2 |1350 |100.0 | 76.0 | 16.0 2.0 4 19.0 | 50.0 M6*1.0P
40A 11/2" 380 |165.0 |[198.0 (1250 | 120 | 65.3 9.5 16.0 |140.0 |105.0 | 81.0 | 16.0 2.0 4 19.0 |70.0 | M8*1.25P
50A 2" 50.0 |178.0 |(198.0 |[132.0 | 120 | 73.8 9.5 16.0 |155.0 [120.0 | 96.0 16.0 2.0 4 19.0 70.0 | M8*1.25P
65A 21/2" | 64.0 |190.0 [300.0 (178.0 |23.0 |925 |170 |28.0 (1750 (1400 |116.0 | 18.0 2.0 4 19.0 |(102.0 | M10*1.5P
80A 3" 76.0 [203.0 [300.0 [188.0 |23.0 |101.7 |17.0 |280 |185.0 |150.0 |126.0 | 18.0 2.0 8 19.0 |[102.0 | M10*1.5P

100A 4" 100.0 |229.0 |450.0 |202.0 | 23.0 |119.0 |17.0 |280 |210.0 |175.0 |151.0 | 18.0 2.0 8 19.0 |(102.0 | M10*1.5P




GEKO

CONTROL-VALVES

GEKO

GKV-225L

FULL PORT TWO-PIECE BALL VALVE FLANGE END

GKV-225L

FULL PORT TWO-PIECE BALL VALVE FLANGE END

CONTROL-VALVES

GKV-225L DN125~DN150(5"~6")

+ BLOW-OUT PROOF STEM/ FULL PORT
» ISO 5211 MOUNTING FLANGE
« TEMPERATURE RANGE: -20 to 180°C

GKV-225L DN15~DN100(1/2"~4")

GKV-225L PN16/PN40

o DESIGN:EN12516-1

 FLANGE DIMENSIONS: EN 1092-1TYPE 21 PN16/40(RF SF)
» FACETO FACE:EN 558-1 F4/F5(DIN 3202 F4/F5)

o TEST: EN-12266-1

GKV-225L 150# 300#
« DESIGN:ANSIB16.34
« FLANGE DIMENSIONS: ANSIB16.5 CLASS150/300
« FACE TO FACE: ANSIB16.1 74
. TEST: API-598

DRAWING FOR5"TO 6"

GKV-225L 10K
» DESIGN:ANSIB16.34
« FLANGE DIMENSIONS: JIS B2238 10K

#

10

=
« FACE TO FACE:JISB2002 (ANSIB16.1) 0 =
« TEST: API-598 8 i
1
15
; i ®
o a9
12 13
5
MxgN
H1
@G oJ ol PORT
0 V-BALL FOR MODULATING CONTROLLER
o i) o A
B % g L
L s
é I
H o o o
Straight Port ~ 30° V-Prot 45° V-Prot 60° V-Prot @ @ @ 87 .
L
MATERIALS LIST
NO. PART NAME PN16/40 Class150/300 JIS-10K QTY
1 BODY 1.4408 1.0619 CF8M WCB SCS14 SCPH2 1 NO. PART NAME PN16/40 150#,300# JIS-10K QTY
4 BALL 1.4408 10619 | CF8M CF8 SCs14 | scsi13 1 1 BODY 14408 1.0619 CF8M WCB scs14 SCPH2 1
5 STEM SS316 SS304__ | SS316 | SS304 | SS316 | 55304 1 4 BALL 1.4408 CF8 CF8M CF8 scs14 SCs13 1
9 END CAP 1.4408 10619 | CF8M WCB__ | SCS14 | SCPH2 | 1 5 STEM SS316 5304 SS316 5304 SS316 5304 1
11 BODY SEAL PTFE. 1 9 END CAP 1.4408 1.0619 CF8M WCB SCs14 SCPH2 1
12 SEAT RTFE. 2 11 BODY SEAL PTFE. 1
13 THRUST WASHER PTFE. 1 I SEAT PTFE. 5
14 STEM PACKING PTFE. SET 3 THRUST WASHER oTiE -
15 GLAND BUSH 55304 1 14 STEM PACKING PTFE. 1SET
19 HANDLE LRON 1 15 GLAND CE8 1
20 SET BOLT $S304 2 15-1 GLAND BUSH SS304 1
21 HANDLE COVER PLASTIC 1-2 o HANDLE LRON I
24 HANDLE NUT 5304 1 0 <ETBOLT <5304 !
% BM\Evic waASER e ; 20| HANDLE COVER PLASTIC 1
% TAB VUASHER o304 : 28 STOP PLATE 5304 1
> S0P PIN w08 . 35 BODY BOLT A193 GrB8 / A193 GrB7 8
35 BODY BOLT A193 GrB8 | A193 GrB7 6~8 37 BOLT NUT Al94Gr8 / AL93 Gr2HM 8
37 BOLT NUT A193 Gr8 | A193 Gr2HM 6~8 41 SNAP RING 55304 1
50 HANDLE ADAPTER ASTM A351 Gr.CF8 1 42 GLAND BOLT 55304 2
50 HANDLE ADAPTER $5.304 1

11



GEKDO GKV-225L

CONTROL-VALVES FULL PORT TWO-PIECE BALL VALVE FLANGE END

GKV-225L DN125~DN150(5"~6")

GKV-225L PN16 DN125-DN150 unit:mm

SIZE PORT L E H1 H2 H4 C QY 2G [9)] Q1 T F M ON oK z
DN125 5" [125.0 |325.0 |600.0 | 233.0 | 45.0 |163.0 | 23.0 | 36.0 |250.0 |210.0 |188.0 | 22.0 | 2.0 8 180 | 125 | M12*1.75P
DN150 6" |150.0 |[350.0 |800.0 | 259.0 | 45.0 |182.5 | 23.0 | 36.0 [285.0 |240.0 |212.0 | 22.0 | 2.0 8 22.0 | 125 | M12*1.75P

GKV-225L PN40 DN125-DN150 unitmm

SIZE PORT L E H1 H2 H4 C QY 2G [9)] Q1 T F M ON oK z
DN125 5" [125.0 |325.0 |600.0 | 233.0 | 45.0 |163.0 | 23.0 | 36.0 |270.0 |220.0 |188.0 | 26.0 2.0 8 26.0 | 125 | M12*1.75P
DN150 6" |150.0 |350.0 [800.0 | 259.0 | 45.0 |182.5 | 23.0 | 36.0 |300.0 |250.0 |218.0 | 28.0 2.0 8 26.0 | 125 | M12*1.75P

GKV-225L15 Class150 5"-6" unit:mm
SIZE PORT L E H1 H2 H4 C QY G [4)] [%)1 T F M ON oK A

DN125 5" ]125.0 |325.0 |600.0 | 233.0 | 45.0 |163.0 | 23.0 | 36.0 |254.0 |216.0 |186.0 | 24.0 | 16 8 223 | 125 | M12*1.75P

DN150 6" [150.0 |394.0 [800.0 | 259.0 | 45.0 |182.5 | 23.0 | 36.0 [2794 |241.3 |216.0 | 254 | 1.6 8 223 | 125 | M12*1.75P

GKV-225L15 Class300 5"-6" unitmm
SIZE PORT | L E HL | H2 | H4 | € | @Y |0G | @ | @ | T F M | ON | oK z
DN125 | 5" |1250 |381.0 |600.0 |233.0 | 450 |163.0 | 23.0 | 360 |2794 |2350 |186.0 |350 | 16 223 | 125 | M12*1.75P
DN150 | 6" |150.0 |403.0 |800.0 | 259.0 | 45.0 |182.5 | 23.0 | 360 |317.5 |269.8 |216.0 | 366 | 1.6 | 12 | 223 | 125 | MI2*L75P

[os]

GKV-225L 10K JIS-10K unitmm
SIZE PORT L E H1 H2 H4 C (%)% 2G Q) a1 T F M ON oK YA
DN125 5" 1125.0 |325.0 [600.0 | 233.0 | 45.0 |163.0 | 23.0 | 36.0 |250.0 {210.0 [182.0 | 20.0 2.0 8 23.0 125 M12*1.75P
DN150 6" |150.0 |{394.0 |{800.0 |259.0 | 45.0 |182.5 | 23.0 | 36.0 |280.0 {240.0 |212.0 | 22.0 2.0 8 230 | 125 M12*1.75P

0
@)

fion
(&)

(0
\Y)
(t
@) g

i

u’/»g
/)‘,.\\

12

GEKO

CONTROL-VALVES ONE-PIECE FULL PORT BALL VALVE FLANGE END

ANSI CLASS 150, PN16

oY

B @ ;@@E @
@ ]
&“[ A O ,"'I5H1

DN15~DN150 (1/2" ~6" ) = /@H4

FULL PORT ONE-PIECE BALL VALVE FLANGE END
BLOW-OUT PROOF STEM/ FULL PORT

ISO 5211 MOUNTING DEVICE POXRT 6
TEMPERATURE RANGE: -20 to 180
FLANGE DIMENSIONSS :

EN 1092-1 PN16 = | =
S@

ANSIB16.5 CLASS 150

TEST : EN-12266-1 Fl \@
API-598 T
%L%

GKV-212 PN16 DIMENSIONS unitmm
SIZE PORT L E H H1 H4 H5 C X ()% 2G [%]] a1 T F oK N
DN15 1/2" 15 35 116 70 19.2 32 10.5 6.35 25 9.6 95 65 45 7.0 2 36 M12
DN20 3/4" 20 38 116 74 16.5 38 75 6.35 25 9.6 105 75 58 7.0 2 36 M12
DN25 1" 25 44 165 75 17.5 42 7.5 6.35 25 9.6 115 85 65 7.5 2 36 M12
DN32 | 1-1/4" 32 54 165 87 24.0 50 12.0 8.0 32 11.2 140 100 78 17.0 2 42 M16
DN40 | 1-1/2" 38 62 193 90 24.0 54 12.0 8.0 35 11.2 150 110 88 19.0 2 50 M16
DN50 2" 50 80 193 99 24.0 62 12.0 8.0 35 11.2 165 125 102 19.5 2 50 M16
DN65 2-1/2" 64 101 235 141 25.5 82 14.5 9.5 53 16 185 145 122 17.0 2 70 M16
DN80 3" 76 118 235 150 25.5 91 14.5 9.5 53 16 200 160 138 20.0 3.0 70 M16

DN100 4" 96 150 266 172 49.0 | 107 24.0 17 55 28 220 180 158 21.0 3.0 102 M16

DN125 5" 118 179 400 205 50.0 | 117 31.0 17 55 28 250 210 188 22.0 3.0 102 M16

DN150 6" 135 202 600 220 50.0 | 130 31.0 17 60 28 285 240 212 22.0 3.0 125 M20
GKV-212 150#DIMENSIONS unit:mm
SIZE DN I1SO-5211 L E H H1 H4 H5 C ()% 2G [%]] (%) T F K DN

1/2" 15 FO3 35 116 70 19.2 32 10.5 6.35 9.6 89 60.5 35 7.0 16 36 1/2"
3/4" 20 FO3 38 116 74 16.5 38 7.5 6.35 9.6 98.6 | 69.9 43 7.0 1.6 36 1/2"

1" 25 FO3 42 165 75 175 42 7.5 6.35 9.6 108.0 | 79.2 51 7.5 16 36 1/2"
1-1/4" 32 FO4 54 165 87 24.0 50 12.0 8.0 11.2 | 1175 88.9 63.5 15.9 1.6 42 5/8"
1-1/2" 40 FO5 62 193 90 24.0 54 12.0 8.0 11.2 | 127.0 | 98.6 73.2 17.5 1.6 50 5/8"

2" 50 FO5 80 193 99 240 62 120 8.0 11.2 | 152.5 | 120.7 92 19.1 1.6 50 5/8"
2-1/2" 65 FO7 101 235 141 25.5 82 14.5 95 16.0 | 177.8 | 139.7 | 104.7 223 1.6 70 5/8"

3" 80 FO7 118 235 150 25.5 91 14.5 95 16.0 | 190.5 | 1524 |127.0 239 1.6 70 5/8"

4" 100 F10 153 266 172 49.0 107 240 | 17.0 28.0 | 228.6 | 190.5 | 157.2 239 | 16 102 5/8"

13



GEKO

CONTROL-VALVES

GKV-212

ONE-PIECE FULL PORT BALL VALVE FLANGE END

GEKDO GKV-237

CONTROL-VALVES  FULLPORT THREE-PIECE MOUNT DIRECT TYPE FLANGE END BALL VALVE

« ISO 5211 DIRECT MOUNTING PAD

« BLOW-OUT PROOFSTEM

* WORKING PRESSURE(CWP) :PN16 bar/PN40 bar
« TEMPERATURE RANGE: -20 to 180°C

» LOCKING DEVICE

14

6/0 « END FLANGE DIMENSION:
$»\"2, DIN 2543 PN16/DIN 2545 Pn40 (EN 1092-1 RF)
\9) « FACETO FACE:EN 558-1/F1
Q 11 o oK1 [
Z- 71-4
l 2
11 1 1l MATERIALS LIST
L L NO. PART NAME MATERIAL
1 BODY 1.4408 / EN1503-1
4 BALL CF8M / EN1503-2
5 STEM SS316
9 END CAP 1.4408 / EN1503-1
;g 2 24 12 SEAT RTFE.
E4-‘ 13 THRUST WASHER RTFE.
15 14 STEM PACKING RTFE.
32 15 GLAND BUSH SS304
19 HANDLE SS304
14 — | 4 21 HANDLE COVER VINYL GRIP
31 ) 22 STEM NUT $5304
13 p==1a gl 24 HANDLE NUT SS304
28 LOCKING PAD SS304
5 29 BELLEVILLE WASHER SS304-CSP
o PORT QL) BG 30 TAB WASHER S5304
9 31 O-RING VITON
o~ 1| 32 PACKING FOLLWER PTFE.+25GGF
4 — 8 35 BODY BOLT SS304
o 36 BOLT WASHER SS304
L MxZN @@@ ; 37 BOLT NUT SS304
MATERIALS LIST L ﬁ*
NO. PART NAME PN 16 MATERIAL CLASS 150%MATERIAL
1 BODY 1.4408 / EN 1503-1 CF8M,CF8(1.4408)
2 BALL CF8M CF8M
3 STEM 55316 AISI 316 PN16 DIMENSIONS Unit:mm
4 INSERT CAP 1.4408 / EN 1503-1 CF8M,CF8(1.4408) SIZE PORT] L E H C [@G [ @) | @l T F [ Mx@N [ @K [@KI1 ] Z-4 [Z1-4] L1
5 BODY SEAL PTFE. PTFE DN15] 1/2" | 15.0 [130.0/112.0] 74.0 | 9.0 | 95.0 [ 65.0 | 45.0 | 16.0 | 2.0 | 4x@14 | 50.0 [ 36.0 | 7.0 | 6.0 | 22.5
6 SEAT PTFE. PTFE DN20| 3/4" | 20.0 [150.0/112.0]/ 81.0 | 9.0 |105.0[ 75.0 | 58.0 | 18.0 | 2.0 | 4x@14 | 50.0 | 36.0 | 7.0 | 6.0 [ 27.5
7 THRUST WASHER p— PTFE DN25| 1" | 25.0 [160.0/136.0/ 90.5 | 9.0 |115.0]/ 85.0 | 68.0 | 18.0 | 2.0 | 4x@14 | 50.0 | 36.0 | 7.0 | 6.0 | 34.0
5 TN PACKING pree DN32[1-1/4"| 32.0 [180.0/185.0] 98.7 | 9.0 |140.0[100.0| 78.0 | 18.0 | 2.0 | 4x@18 | 50.0 | 36.0 | 7.0 | 6.0 | 42.5
PTFE. DN40[1-1/2"] 38.0 [200.0]198.0[115.3] 14.0 [150.0[110.0]/ 88.0 | 18.0 | 3.0 | 4x@18 | 70.0 [ 50.0 | 9.0 | 7.0 [ 52.0
9 GLAND 5304 AISI 304 DN50| 2" [50.0 [230.0[198.0[124.0] 14.0 [165.0[125.0[102.0] 20.0 | 3.0 | 4x@18 [ 70.0 | 50.0 | 9.0 | 7.0 [ 63.5
10 HANDEL $5304 AISI 304 DNG65 | 2-1/2"| 65.0 [290.0/267.0/155.0] 17.0 |185.0[145.0/122.0] 18.0 | 3.0 | 4x@18 [102.0] 70.0 | 11.0 | 9.0 | 85.5
11 HANDEL COVER PLASTIC AISI 304 DN80| 3" |80.0 |310.0/267.0{208.5] 17.0 [200.0/160.0|/138.0| 20.0 | 3.0 | 8x@18 |102.0| 70.0 | 11.0 | 9.0 [102.0
o STEM NUT <300 ASI304 DN100] 4" |100.0|350.0/322.0[216.7| 17.0 |220.0/180.0/158.0] 20.0 | 3.0 | 8x@18 [102.0] 70.0 | 11.0 | 9.0 |128.5
14 HANDEL NUT $S304 AISI 304
15 BELLEVILLE WASHER $S301 AISI 304
16 STOP PIN 55304 PLASTIC PN40 DIMENSIONS Unitmm
17 HANDLE SLEEVE PLATIC PLATIC SIZE PORT] L E H C [@G [ @) [ @l T F [ Mx@N | OK [@K1 [ Z-4 [Z1-4] L1
18 STOP BOLT 55304 $5304 DN15] 1/2" | 15.0 [130.0[112.0] 74.0 | 9.0 | 95.0 | 65.0 | 45.0 | 16.0 | 2.0 | 4x@14 | 50.0 | 36.0 | 7.0 | 6.0 | 225
19 HANDLE ADAPTER Crs Cr8 DN20| 3/4" | 20.0 [150.0/112.0] 81.0 | 9.0 |105.0] 75.0 | 58.0 | 18.0 | 2.0 | 4x@14 | 50.0 | 36.0 | 7.0 | 6.0 | 27.5
2 HANDLE e p— DN25| 1" | 25.0 [160.0/136.0/ 90.5 | 9.0 |115.0] 85.0 | 68.0 | 18.0 | 2.0 | 4x@14 | 50.0 | 36.0 | 7.0 | 6.0 | 34.0
~ SACKING FOLLWER Ty DN32[1-1/4"] 32.0 [180.0[185.0] 98.7 | 9.0 |140.0[100.0] 78.0 | 18.0 | 2.0 | 4x@18 | 50.0 | 36.0 | 7.0 | 6.0 | 425
PTFE.+25GG.F. : - DN40 [1-1/2"] 38.0 [200.0[198.0]115.3| 14.0 |150.0/110.0] 88.0 | 18.0 | 3.0 | 4x@18 | 70.0 | 50.0 | 9.0 | 7.0 | 52.0
22 TAB WASHER $5304 AISI 304 DN50| 2" |50.0 [230.0/198.0/124.0] 14.0 |165.0[125.0/102.0] 20.0 | 3.0 | 4x@18 | 70.0 | 50.0 | 9.0 | 7.0 | 63.5
23 SET BOLT $5304 AISI 304 DN65 [2-1/2"] 65.0 [290.0[267.0[155.0] 17.0 [185.0]/145.0[122.0] 22.0 [ 3.0 | 8x@18 [102.0]/ 70.0 | 11.0 | 9.0 | 85.5
DN80| 3" [80.0 [310.0/267.0/208.5] 17.0 |200.0[160.0[138.0| 24.0 | 3.0 | 8x@18 [102.0] 70.0 | 11.0 | 9.0 [102.0
DN100] 4" |100.0|350.0/322.0|216.7| 17.0 |235.0/190.0/162.0| 24.0 | 3.0 | 8x@22 [102.0] 70.0 | 11.0 | 9.0 |128.5




GEKO

CONTROL-VALVES

GKV-237L

FULL PORT THREE-PIECE FLANGE END BALL VALVE

BLOW-OUT PROOF STEM
WORKING PRESSURE(CWP) :PN16 bar/PN40 bar
TEMPERATURE RANGE: -20 to 180°C

LOCKING DEVICE

END FLANGE DIMENSION:
DIN 2543 PN16/DIN 2545 PN40(EN 1092-1 RF)
FACE TO FACE:EN 558-1/F1

NO. PART NAME MATERIAL
BODY 1.4408 / EN1503
4 BALL CF8M / EN1503
5 STEM SS316
9 END CAP 1.4408 / EN1503
12 SEAT PTFE.
13 THRUST WASHER PTFE.
14 STEM PACKING PTFE.
16 GLAND NUT $5304
19 HANDLE $S304
i 21 HANDLE COVER PLASTIC
J 23 HANDLE WASHER $5304
G 24 HANDLE NUT $5304
28 LOCKING DEVICE 55304 (OPTION)
35 BODY BOLT $5304
36 BOLT WASHER $5304
37 BOLT NUT $5304
PN/16 DIMENSIONS unit:mm
SIZE PORT L E H 2G []] o1 T F Mx@N C L1
DN15 1/2" 15.0 130.0 122.9 88.0 95.0 65.0 450 16.0 2.0 4x214.0 5.0 22.5
DN20 3/4" 20.0 150.0 1229 91.0 105.0 75.0 58.0 18.0 2.0 4x14.0 5.0 27.5
DN25 1" 25.0 160.0 1449 1040 |115.0 85.0 68.0 18.0 2.0 4x014.0 8.0 34.0
DN32 1-1/4" 32.0 180.0 1449 1080 |1400 |100.0 78.0 18.0 2.0 4x218.0 8.0 425
DN40 1-1/2" 38.0 200.0 1889 [121.0 [150.0 |110.0 88.0 18.0 3.0 4x218.0 10.0 52.0
DN50 2" 50.0 230.0 1889 [1290 |1650 |1250 |102.0 20.0 3.0 4x218.0 10.0 63.5
DN65 2-1/2" 65.0 290.0 2553 |1520 |185.0 |1450 |1220 22.0 3.0 8x18.0 10.0 85.5
DN80 3" 80.0 3100 2608 |160.0 |2000 |1600 |138.0 24.0 3.0 8x018.0 12.0 102.0
DN100 4" 1000  |350.0 3222|1740 |2350 1900 |162.0 24.0 3.0 8x022.0 16.0 1285
PN/40 DIMENSIONS unitmm
SIZE PORT L E H G Q) o1 T F Mx@N C L1
DN15 1/2" 15.0 1300  [1229 88.0 95.0 65.0 450 16.0 2.0 4x214.0 5.0 22.5
DN20 3/4" 20.0 1500 [122.9 91.0 105.0 75.0 58.0 18.0 2.0 4x14.0 5.0 27.5
DN25 1" 25.0 1600 [1449 |1040 |1150 85.0 68.0 18.0 2.0 4x014.0 8.0 34.0
DN32 1-1/4" 32.0 180.0 [1449 1080 |1400 |100.0 78.0 18.0 2.0 4x018.0 8.0 425
DN40 1-1/2" 38.0 2000 [1889 |121.0 [1500 |110.0 88.0 18.0 3.0 4x218.0 10.0 52.0
DN50 2" 50.0 2300 [1889 1290 |1650 1250 |102.0 20.0 3.0 4x218.0 10.0 63.5
DN65 2-1/2" 65.0 2900 [2553 1520 |1850 1450 |122.0 220 3.0 8x18.0 10.0 85.5
DN80 3" 80.0 3100 |260.8 |1600 2000 |1600 |138.0 24.0 3.0 8x018.0 12.0 102.0
DN100 4" 1000 [3500 [3222 |1740 |2350 [190.0 |162.0 24.0 3.0 8x022.0 16.0 1285

16

.

BLOW-OUT PROOF STEM

ISO 5211 DIRECT MOUNTING PAD

GEKO

CONTROL-VALVES

GKV-143

3-WAY [L-PORT&T-PORTIBALL VALVE SCREWED END

WORKING PRESSURE(CWP) :DN8~DN50 1000psi PN63 bar
TEMPERATURE RANGE: -20 to 180°C
LOCKING DEVICE
THERE ARE FOUR SEATS
L-PORTOR T-PORT AVAILABLE 360°POTARY HANDLE
PIPE THREAD IN ACCORDANCE
ANSIB1.20.1(NPT)
DIN 259/DIN 2999

I1SO 228
BSPT(PT)
BSP(PF)
MATERIALS LIST
NO. PART NAME MATERIAL
1 BODY ASTM A351 Gr.CF8M
4 BALL ASTM A351 Gr.CF8M
e 5 STEM SS316
F 2 9 CAP ASTM A351 Gr.CF8M
< 11 BODY SEAL PTFE.
oz 12 SEAT RTFE.
oK P 13 THRUST WASHER RTFE.
\ 14 STEM PACKING RTFE.
17 N (}M \_/ 15 GLAND BUSH $S304
© - 19 HANDLE $5304
- 21 HANDLE COVER PLASTIC
oK1 22 STEM NUT $5304
23 HANDLE WASHER SS304
24 HANDLE NUT SS304
28 LOCKING PAD $S304
29 BELLEVEILLE WASHER $5304-CSP
- 30 STOP WASHER 55304
%5 31 0-RING VITON
29 > T 32 PACKING FOLLOWER PTFE.+25%GF
5 31 33 STOP PIN $S304
14 <«
13 T
" F Flow Patterns for L-Port
i — | 'g 1'\5{':;:!2 1@2 f@z ‘E&T‘sz
12 o 3 3 3 3
9 (E—
= — g Flow Patterns for T-Port
~ L2 — — ] -
L 1@2 1%4'2 1%2 1%‘}2
3 3 : : 3 I . 3
DIMENSIONS unit:mm
SIZE PORT L L5 E H H1 H4 C Y oK oK1 z Z1
DN8 | 1/4" 11.0 75.7 373 | 112.0 77.5 9.0 38.2 9.0 12.0 420 | F-04 6.0
DN10 | 3/8" 11.0 75.7 373 | 112.0 77.5 9.0 38.2 9.0 12.0 420 | F-04 6.0
DN15 | 1/2" 12.7 75.7 373 | 112.0 77.5 9.0 38.2 9.0 12.0 420 | F-04 6.0
DN20 | 3/4" 16.0 866 | 447 | 1120 82.0 9.0 452 9.0 12.0 420 | F-04 6.0
DN25 1" 200 | 1024 | 514 | 1365 93.7 110 | 565 110 | 15.8 500 | F-05 7.1
DN32 |1-1/4" | 250 | 1182 577 | 1880 | 1011 | 110 | 619 11.0 | 158 50.0 | F-05 7.1
DN40 |1-1/2" | 320 | 1258 | 627 | 1975 | 1203 143 | 783 140 | 2038 700 | F-07 |500 |F-05 9.2 7.1
DN50 2" 381 | 1490 | 746 | 1975 | 129.9 140 | 874 140 | 2038 700 | F-07 |500 |F-05 9.2 7.1

17



GEKD GKV-144

CONTROL-VALVES 3-WAY/4-WAY BALL VALVE SCREWED END

GEKD GKV-143L

CONTROL-VALVES 3-WAY [L-PORT&T-PORTIBALL VALVE SCREWED END

« BLOW-OUT PROOF STEM
 WORKING PRESSURE(CWP) :DN8~DN50 1000psi PN63 bar

« TEMPERATURE RANGE: -20 to 180°C « BLOW-OUT PROOF STEM

« LOCKING DEVICE e ISO 5211 DIRECT MOUNTING PAD

« THERE ARE FOUR SEATS « WORKING PRESSURE(CWP) :DN8~DN100 1000psi
* L-PORT OR T-PORT AVAILABLE 360°POTARY HANDLEE PN63bar

. PIPE THREAD IN ACCORDANCE
ANSIB1.20.1(NPT)
DIN 259/DIN 2999

« TEMPERATURE RANGE: -20 to 180°C
* LOCKING DEVICE
« THERE ARE FOUR SEATS

ISO 228 + L-PORT OR T-PORT OR X-PORT AVAILABLE 360°POTARY
BSPT(PT)
BSP(PF)
i MATERIALS LIST
NO. PART NAME MATERIAL QTY
H1 1 BODY ASTM A351 Gr.CF8M| 1
4 BALL ASTM A351 Gr.CF8M| 1
5 STEM SS316 1
9 END CAP ASTM A351 Gr.CF8M| 4
Flow Patterns for L-Port 11 BODY SEAL PTFE. 4
= = — 12 SEAT PTFE. 4
C (= pe=Cifi= = 'liq:",’ 1= =B 13 THRUST WASHER PTFE. 1
7.4 oK bld bld ¥ il 14 STEM PACKING PTFE. 1SET
15 GLAND 55304 1
- Flow Patterns for T-Port 19 HANDLE SS304 1
— A | 21 HANDLE COVER PLASTIC 1
| 1’%}} | IE‘};‘Z
o il MRARAR - 1
b: \ / ‘ —) L/ 24 HANDLE NUT SS304 1
L5 /%7&_@ 29 BELLEVILLE WASHER SS410 2
30 STOP WASHER SS304 1
‘ J—L J—L MATERIAL LIST T ORING VITON i
NO. PART NAME MATERIAL - H 32 PACKING FOLLOWER PTFE.+25GF 1
E 1 BODY ASTM A351 Gr.CF8M I8 33 STOP PIN 55304 1SET
4 BALL ASTM A351 Gr.CF8M H 35 BOLT 55304 16
2 = = ; 35 36 BOLT WASHER 55304 16
) STEM SS316 Ha
3 9 END CAP ASTM A351 Gr.CF8M 14 T
19 11 BODY SEAL PTFE. 33 S —37.5°
16 12 SEAT PTFE. @/ / \ - Jp -
G H 13 THRUST WASHER PTFE. \ J i r T
113 p— in + 14 STEM PACKING PTFE. @/ o
= T- | N
5 = ﬁ | 16 GLAND NUT 55304 J o PROT 1601BV - PRO D2
T PORT 19 HANDLE 55304 (2T S {
2 | 21 HANDLE COVER VINYL GRIP 0o
9 — — * 23 L
1 o HANDLE WASHER $5304
— 24 HANDLE NUT 55304 L L
L 28 LOCKING PAD SS304
Butt weld end Socket weld end
DIMENSIONS it:
unit:mm DIMENSIONS unitmm
SIZE PORT L L5 E H H1 C oK Z-4 SIZE |[PORT | L E H1 | H H4 D Z1 z2 F 1SO 5211 BW | D1 | D2 T
DN8 1/4" 11.0 69.4 346 1334 60.7 10.7 2.0 420 M5xP0.8 1/2" | 16.0 | 96.0 |186.5| 9.0 | 89.0 | 478 | 9.0 | 6.0 48.0 fo— 21.3 | 15.8 | 21.8 | 10.0
" 50
DN10 3/8" 11.0 69.4 346 1334 60.7 10.7 9.0 42.0 M5xP0.8 3/4 20.0 |{107.0 |218.0 | 11.0 | 98.0 | 58.2 11 7.0 53.5 FSOS 26.7 | 209 | 274 | 13.0
NS 12" s 757 373 1334 o1 107 %0 120 MSxPO8 1 250 [126.0 (2180 | 11.5 (1020 | 640 | 11 | 7.0 63.0 — 334|266 341 | 130
1-1/4" | 32.0 [133.0 [235.0 [ 152 [1185 | 79.0 | 140 | 9.0 | 7.0 | 66.5 42— 42.2| 351|427 | 13.0
DN20 3/4" 16.0 86.6 447 1785 824 139 11.0 50.0 M6xP1.0 A
1-1/2" | 38.0 [151.0 [235.0 | 14.3 [127.0 | 885 | 140 | 9.0 | 7.0 | 755 —g2——f— 48.3 | 40.9 | 49.0 | 13.0
DN25 L 200 |1024 | 514 11785 | 861 | 200 110 | 500 | M&xPLO 2 | 500 [1660 2520 | 17.8 |139.0 [105.8 | 17.0 | 110 | 9.0 | 830 29 11921603 [5255 | 610 | 160
DN32 | 1-1/4" 250 |1182 577 2099 914 238 110 500 M6xP1.0 2-1/2" | 65.0 |175.0 [302.0 [ 17.5 [165.7 [117.3 | 17.0 | 11.0 | 9.0 | 87.5 —Z0—119%2 1730 |62.7 | 77.0 | 160
DN40 | 1-1/2" 320 12538 627 2080 [1027 2538 11.0 700 | M8xP1.25 3" 80.0 [207.2 |302.0 | 17.5 [170.0 [128.0 | 17.0 | 11.0 | 9.0 |103.6 —F2— 132889 |77.9 | 90.2 | 16.0
DN50 2" 38.0 149.0 74.6 2299 110.7 253 14.0 70.0 M8xP1.25 4" 100 |285.6 |{600.0 | 30.0 [308.0 |159.0 | 27.0 | 14.0 142.8 %f; 114.3|102.3 |115.3 | 22.0
DN65 | 2-1/2" 500 |160.0 80.0 229.9 115.8 245 14.0 70.0 M8xP1.25
DN80 3" 650 |185.0 925 265.0 1320 255 17.0 102.0 M10xP1.5

18 19



20

GEKO

GKV-132

CONTROL-VALVES FULL PORT THREE-PIECE WELD WELD BALL VALVE

THREADED END,SOCKET WELD END,BUTT WELD END
ISO 5211 DIRECT MOUNTING

PAD

BLOW-OUT PROOF STEM
WORKING PRESSURE(CWP) :
DN8~DN50 1000psi

DN65~DN80 800psi
TEMPERATURE RANGE: -20 to 180°C
LOCKING DEVICE

PIPE THREAD IN ACCORDANCE
ANSI B1.20.1(NPT)

DIN 259/DIN 2999

ISO 228
37.5° =~
T
M
PORT DI1 BW P(jRT D2
e
L L

Butt weld end Socket weld end

oK K1
z-4 Z1-4
MATERIALS LIST
NO. PART NAME MATERIAL
1 BODY ASTM A351 Gr.CF8M
4 BALL ASTM A351 Gr.CF8M
5 STEM SS316
9 END CAP ASTM A351 Gr.CF8M
12 SEAT RTFE.
13 THRUST WASHER RTFE. 30
14 STEM PACKING RTFE. 9
15 GLAND BUSH SS304 T
19 HANDLE SS304
21 HANDLE COVER VINYL GRIP 32
22 STEM NUT SS304 14
24 HANDLE NUT SS304 31
28 LOCKING PAD SS304 3
29 BELLEVILLE WASHER SS304-CSP
30 TAB WASHER SS304 5
31 O-RING VITON 1
32 PACKING FOLLWER PTFE.+25%G.F. 5
35 BODY BOLT SS304
36 BOLT WASHER SS304 4
37 BOLT NUT SS304 1
D|MENS|ONS Unit:mm

SIZE PORT] L L E H H1 | H4 C K K1 [ Z4 [7z1-4] D1 [ BW | D2 T
DN8 | 1/4" | 11.5[63.5| 585 [112.0[73.0 | 85 |[37.0 ] 9.0 [50.0 [36.0 | 7.0 | 6.0 [11.0 [13.7 [ 14.2]10.0
DN10| 3/8" | 12.5 | 63.5 | 63.5 |[112.0| 73.0 | 85 |37.0 | 9.0 |50.0 | 36.0 | 7.0 | 6.0 [12.5 |17.1 [17.5 [ 10.0
DN15] 1/2" [ 15.0 | 63.5] 75 [112.0]/73.0 | 85 [37.0 | 9.0 [50.0 [36.0 | 7.0 | 6.0 [15.8 [21.3 [ 21.8]10.0
DN20| 3/4" | 20.0 [ 72.5| 80 [112.0]/80.8 | 85 |45.0 | 9.0 |50.0 | 36.0 | 7.0 | 6.0 [20.9 |26.7 | 27.4 | 13.0
DN25] 1" [25.081.0] 90 [136.0/90.5 |11.4 [53.5| 9.0 [50.0 |[36.0 | 7.0 | 6.0 [26.6 [33.4 | 34.1 | 13.0
DN32[1-1/4"| 32.0 [ 94.5 | 110 [185.0]98.7 | 11.4 | 59.0 | 9.0 |50.0 | 36.0 | 7.0 | 6.0 [35.1 |42.2 [42.7 | 13.0
DN40[1-1/2"] 38.0 [108.0] 120 [197.9]115.3| 14.0 [ 74.8 | 14.0 [ 70.0 [ 50.0 | 9.0 | 7.0 [40.9 [48.3 [ 49.0 [ 13.0
DN50] 2" [50.0 [121.5] 140 [197.9]124.0]13.7 [ 83.5 | 14.0 [ 70.0 | 50.0 | 9.0 | 7.0 [52.5 [60.3 | 61.0 | 16.0
DN65[2-1/2"] 65.0 [157.5| 185 [267.0[155.0] 18.0 [108.8] 17.0 [102.0] 70.0 [ 11.0 | 9.0 [62.7 [73.0 [ 77.0 | 16.0
DN80| 3" [80.0 [190.0] 205 [267.0]208.5] 18.0 [118.3] 17.0 [102.0]/ 70.0 [ 11.0 | 9.0 [77.9 [88.9 | 90.2 | 16.0
DN100] 4" [100.0[225.0] 240 [322.0]/216.7] 18.0 [153.8] 17.0 [102.0] 70.0 [ 11.0 | 9.0 [102.3 [114.3[115.3] 22.0

GEKO

CONTROL-VALVES

GKV-132L

FULL PORT THREE-PIECE WELD WELD BALL VALVE

THREADED END,SOCKET WELD END,BUTT WELD END

« BLOW-OUT PROOF STEM

« WORKING PRESSURE(CWP) :
DN8~DN50 1000psi
DN65~DN80 800psi

. TEMPERATURE RANGE: -20 to 180°C

. LOCKING DEVICE

« FACE TO FACE: DIN 3202 M3

« WITHISO MOUNTING FLANGE

. PIPE THREAD IN ACCORDANCE

ANSI B1.20.1(NPT)

DIN 259/DIN 2999

37.5° f=e
ﬂ T
PORT DT1 B POTRT DTZ
ok~ F] 7-4 ‘—1.6 i l l
@_ %i/ o
— Y
=\ i o I - L
NI (( ) Butt weld end Socket weld end
IS al
@g—v ‘—J MATERIALS LIST
(BT} NO PART NAME MATERIAL
24 1 BODY ASTM A351 Gr.CF8M
E4—1 4 BALL ASTM A351 Gr.CF8M
23 . . 5 STEM 55316
15 I 9 END CAP ASTM A351 Gr.CF8M
H1 11 BODY SEAL PTFE.
1 28192 12 SEAT RTFE.
1 H 13 THRUST WASHER PTFE.
14 STEM PACKING PTFE.
11 15 GLAND 5304
[ 19 HANDLE 55304
6 PORT 21 HANDLE COVER PLASTIC
@ 23 HANDLE WASHER 55304
| 24 HANDLE NUT SS304
g 28 LOCKING DEVICE $S304 (OPTION)
e 35 BODY BOLT 55304
Liuz 36 BOLT WASHER 55304
0 L 37 BOLT NUT 55304
DIMENSIONS unitmm
SIZE PORT | L E H HL | oK z-4 11 [Bw [ D1 [ D2 [ T
DN8 | 1/4" [11.0 | 63.7 [1020 | 540 [13.0 | 360 |M5xP0.8 | 21.0 [13.7 [11.0 [14.2 [10.0
DN10 | 3/8" | 125 | 637 [1020 [ 540 |13.0 [360 |M5xP0.8 | 21.0 [171 [12.5 [17.5 | 100
DN15 | 1/2" [ 150 | 657 [102.0 [ 550 | 13.0 [360 |M5xP0.8 | 225 [21.3 [15.8 [21.8 |10.0
DN20 | 3/4" [ 200 [ 762 [1260 [ 620 | 170 [360 |M5xP0.8 | 31.0 [267 [209 [274 |13.0
DN25 | 1" [ 254 [86.2 [126.0. [ 660 | 190 [ 360 |M5xP0.8 | 40.0 [334 [266 |34.1 |13.0
DN32 [1-1/4" | 32.0 [102.8 [154.0 [ 90.0 | 27.0 [50.0 |M6xP1.0 | 50.0 [42.2 |351 [42.7 [13.0
DN40 [1-1/2" | 40.0 [1194 [154.0 [ 93.0 | 260 [50.0 |M6xP1.0 | 58.0 [48.3 [40.9 [49.0 | 13.0
DN50 | 2" [ 50.8 [1314 [188.0 [102.0 | 240 [50.0 |M6xP1.0 | 700 |603 |525 [61.0 |16.0
DN65 [2-1/2" | 65.0 [164.0 [265.0 [121.0 | 39.0 [ 700 [M8xP1.25 [ 850 [73.0 |62.7 |77.0 | 16.0
DN8O | 3" | 80.0 [182.7 [265.0 [134.0 | 37.0 [102.0 |M10xP1.5 |1015 |88.9 |77.9 [90.2 | 16.0
DN100 | 4" [100.0 [236.2 [272.0 [1750 | 500 [102.0 [M10xP15 [122.0 [114.3 [102.3 [115.3 | 22.0

21



GEKO

CONTROL-VALVES

GKV-133

FULL PORT THREE-PIECE WELD WELD BALL VALVE

GEKDO GKV-135

CONTROL-VALVES THREE-PIECE IS05211 MOUNT DIRECT TYPE BALL VALVE VALVE

« BLOW-OUT PROOF STEM 2000WOG/1500WOG/1000WOG

« FACE TO FACE- DIN 3202 513

« WORKING PRESSURE(CWP) :
DN8~DN50 1000psi
DN65~DN100 800psi

« TEMPERATURE RANGE: -20 to 180°C

« LOCKING DEVIC

* THREADED END,SOCKET WELD END,BUTT WELD
END

« ISO 5211 DIRECT MOUNTING PAD

« BLOW-OUT PROOF STEM

« WORKING PRESSURE(CWP):

GKV-135B DN8~DN25 2000psi PN140 bar

GKV-135B DN32~DN50 1500psi PN100 ba

GKV-135B DN65~DN100 1000psi PN63 bar

GKV-135R DN8~DN32 2000psi PN140 bar

GKV-135R DN40~DN65 1500psi PN100 bar

GKV-135R DN80~DN100 1000psi PN63 bar

« TEMPERATURE RANGE: -20 to 180°C

« LOCKING DEVICE

« PIPE THREAD IN ACCORDANCE

K1 K 71-4
LB—
|
MATERIALS LIST ] Jlﬁ 33
Lo - NN S b )
r.
4 BALL ASTM A351 Gr.CF8M M TT_ — NAl\:l/l,;‘TERIAL LIST —
5 STEM 55316 RJ—‘
w 72-4 BODY ASTM A351 Gr.CF8M
9 END CAP ASTM A351 Gr.CF8M ‘ ISg
5 SEAT PTEE 24 E ) £ BALL ASTM A351 Gr.CF8M
= THRUST WASHER PTFE. 23 1 2) 2324 / — :LEMCAP ii‘?’;AGA351 Gr.CF8M
I
14 STEM PACKING PTFE. e T S 9 0Dy SEAL e
15 GLAND 55304 59 p { SEAT RTFE.
i :ﬁzgti — 55304 14 28)19)21) | T H1 THRUST WASHER RTFE.
VINYL GRIP 13 o 3> STEM PACKING SS304
23 HANDLE WASHER 55304 — H 15 GLAND BUSH
24 HANDLE NUT $5304 > 14 = 19 HANDLE P
28 LOCKING DEVICE $5304 (OPTION) 12 ohoRT b B 51”; H4 - ANDLE CoUER g;‘;i:'c
e — : o R
37 BOLT NUT $S304 } 4 PORT 23 HANDLE WASHER S$S304
S5 T | 24 HANDLE NUT SS304
4 ‘ . 37 =" 29 BELLEVILLE WASHER SUS304 CSP
30° 1 35 T 30 TAB WASHER SS304
T o =% 31 STEM O-RING VITON
T L1 32 PACKING FOLLOWER PTFE.+25%GF
L 33 STOP PIN SS304
3/8"&1/2" OTHER 35 BODY BLOT $S304
37 BOLT NUT SS304
37.5° p=—
DIMENSIONS unit:mm —L_I_
SIZE PORT L L2 E H ) T BW 13 r Y T
DN8 14 115 70.0 5.0 97.4 49.0 115 16 16.2 19.0 PORT ., 01 BW PORT D2
DN10 3/8" 125 70.0 6.0 97.4 49.0 136 18 17.2 19.0 | l l
DN15 172" 15.0 75.0 6.0 1229 58.0 173 20 213 225
DN20 3/4" 20.0 90.0 1229 61.0 20.0 16 278 275 5 t'-t T end s It et ond
uttweld en ocketweld en
DN25 1 25.0 100.0 8.0 144.9 68.0 285 20 337 340
DN32 1-1/4" 320 110.0 144.9 735 320 16 437 425
DN40 1-1/2" 38.0 125.0 10.0 188.9 84.5 425 20 483 52,0
DN50 2" 50.0 150.0 10.0 188.9 932 53.9 20 60.3 63.5
DN65 2-1/2" 65.0 190.0 120 255.3 1318 68.9 20 76.1 855
DN8O 3" 80.0 2200 12,0 2608 | 1400 80.9 20 88.9 102.0
DN100 4 1000 | 2700 120 322.2 1736 | 1043 20 1143 | 1285

22 23



GEKO GKV-135 GEKO GKV-135

CONTROL-VALVES THREE-PIECE ISO5211 MOUNT DIRECT TYPE BALL VALVE VALVE CONTROL-VALVES THREE-PIECE 1IS05211 MOUNT DIRECT TYPE BALL VALVE VALVE

2000WOG/1500WOG/1000WOG

* THREADED END,SOCKET WELD END,BUTT WELD END
» ISO 5211 DIRECT MOUNTING PAD

+ BLOW-OUT PROOF STEM

* ORKING PRESSURE(CWP) :

GKV-135B DN8~DN25 2000psi  PN140 bar
GKV-135B DN32~DN50 1500psi PN100 ba
GKV-135B DN65~DN100 1000psi PN63 bar
GKV-135R DN8~DN32 2000psi PN140 bar
GKV-135R DN40~DN65 1500psi PN100 bar
GKV-135R DN80~DN100 1000psi PN63 bar
* TEMPERATURE RANGE: -20 to 180°C

* LOCKING DEVICE

» PIPE THREAD IN ACCORDANCE

*THREADED END,SOCKET WELD END,BUTT WELD END
*« WITHISO 5211 DIRECT MOUNTING PAD
* BLOW-OUT PROOF STEM
* WORKING PRESSURE(CWP) :
GKV-135B DN65~DN100 1000psi  PN63 bar
GKV-135R DN80~DN100 1000psi PN63 bar
« TEMPERATURE RANGE: -20 to 180°C
+ LOCKING DEVICE
« PIPE THREAD IN ACCORDANCE
ANSIB1.20.1(NPT)
DIN 259/DIN 2999

ANSIB1.20.1(NPT) 1SO 228 (G)
DIN 259/DIN 2999 714 BSPT (PT)
ISO 228 (G) G— 72-4 BSP ( PF)
Full Bore Dimension \/
SIZE PORT [ L E H H1 H4 C oK oKL [ 71-4 [z2-4] L1 BW D1 D2 T \[_K/
DN8 [1/4" |11 56.1 1120 | 729 [ 85 37.0 | 9.0 50.0 36.0 7.0 6.0 | 22.5 11 11 11 11 [
DN10 [3/8" [125 | 56.1 1120 | 729 [ 85 370 | 9.0 50.0 36.0 7.0 6.0 | 22.5 125 [125 [ 125 125 oK
DN15 [1/2" [150 | 68.0 1120 | 729 [ 85 370 | 9.0 50.0 36.0 7.0 6.0 | 22.5 150 [150 [ 150 [15.0 1 — oK1
DN20 [3/4" [200 [ 761 1120 | 818 [ 85 450 [ 90 50.0 36.0 7.0 6.0 | 20.0 200 [200 | 200 |20.0 C c
DN25 | 1" 250 | 846 1360 | 905 | 114 [ 535 | 9.0 50.0 36.0 7.0 6.0 | 25.0 250 |250 | 250 |25.0 52)
DN32 |1-1/4"[320 | 98.1 1850 | 980 | 114 [ 590 | 9.0 50.0 36.0 7.0 60 | 32.0 320 [320 [320 [320 53 I —
DN40 [1-1/2"[380 [ 1112 [ 1979 | 1147 [ 140 | 7438 14.0 70.0 50.0 9.0 70 | 380 380 [380 [380 ]380 53 —h )
DN50 | 2" 500 | 1267 | 1979 | 1240 | 137 | 835 14.0 70.0 50.0 9.0 70 | 50.0 50.0 [500 [ 500 [500 %> MATERIAL LIST
Reduced Bore Dimension 38 NO PART NAME MATERIAL
1 BODY ASTM A351 Gr.CF8M
SIZE PORT [ L E H H1 H4 C oK oKL [ z1-4 [z2-4] L1 BW D1 D2 T a1 = H ) BALL ASTM A351 GrCFEM
DN15 [1/2" [150 | 68.0 1120 | 729 [ 85 370 | 9.0 50.0 36.0 7.0 60 | 225 150 [150 [ 150 [150 55 :& H4 : e T -
DN20 [3/4" [200 [ 761 1120 | 81.8 [ 85 450 [ 9.0 50.0 36.0 7.0 6.0 | 20.0 200 [200 | 200 |200 7
DN25 [ 1" 250 | 846 136.0 | 905 114 | 535 9.0 50.0 36.0 7.0 60 | 250 | 250 [250 [ 250 [250 3 9 END CAP ASTM A351 Gr.CF8M
DN32 [1-1/4"[320 [ 981 1850 | 980 [ 114 [590 [ 90 50.0 36.0 7.0 6.0 | 32.0 320 [320 [320 [320 I 11 BODY SEAL RTFE.
DN40 [1-1/2"[380 [ 1112 [ 1979 | 1147 [ 140 | 748 14.0 70.0 50.0 9.0 70 | 380 380 [380 [380 [380 12 SEAT RTFE.
DN50 | 2" 50.0 | 1267 | 197.9 | 1240 | 137 [ 835 14.0 70.0 50.0 9.0 70 | 50.0 50.0 500 [ 500 [500 5 PORT 13 THRUST WASHER RTFE.
f | 14 STEM PACKING 55304
= A 15 GLAND BUSH $S304
1 19 HANDLE PLASTIC
@ P o] 21 HANDLE COVER SS304
L1 % 22 STEM NUT $5304
3 23 HANDLE WASHER SS304
s 24 HANDLE NUT SS304
T 29 BELLEVILLE WASHER SUS304 CSP
U 30 TAB WASHER SS304
—x( i 31 STEM O-RING VITON
PORT s D1 BW PORT D2 32 PACKING FOLLOWER PTFE.+25%GF
£ | | 33 STOP PIN SS304
L 35 BODY BLOT 55304
L LJ 37 BOLT NUT 55304
Butt weld end Socket weld end

Full Bore Dimension unit:mm

SIZE PORT L E H H1 H4 C oK OK1 | 71-4 | 72-4 L1 BW D1 D2 T
DN 65 [2-1/2"| 65.0 [165.0 |267.0 |155.0 | 18.0 |108.8 | 17.0 [102.0 | 70.0 11.0 9.0 85.5 73.0 62.7 77.0 16.0
DN 80 3" 80.0 [208.0 [267.0 |208.5 | 18.0 |1183 | 17.0 [102.0 | 70.0 11.0 9.0 ]1020 | 889 77.9 90.2 16.0
DN 100 4" ]100.0 [2325 [322.0 |216.7 | 18.0 |153.8 | 17.0 [102.0 | 70.0 11.0 9.0 [1285 [1143 [1023 1153 | 20.0

Reduced Bore Dimension

SIZE PORT L E H H1 H4 C QK OK1 | Z1-4 72-4 L1 BW D1 D2 T
DN 80 3" 80.0 |[208.0 |267.0 |208.5 | 180 [1183 | 17.0 [1020 | 70.0 110 | 9.0 (1020 |889 77.9 90.2 16.0
DN 100 4" 11000 |2325 3220 |216.7 | 180 [153.8 |17.0 [102.0 | 70.0 11.0 | 90 ]1285 1143 1023 [1153 |20.0

24 25



GKV-137

FULL PORT THREE-PIECE WELD WELD BALL VALVE

GKV-136

THREE-PIECE MOUNT DIRECT CLAMP END BALL VALVE

CONTROL-VALVES CONTROL-VALVES

« BLOW-OUT PROOF STEM

* WORKING PRESSURE(CWP) :
DN8~DN50 1000psi
DN65~DN100 800psi

« TEMPERATURE RANGE: -20 to 180°C

« FULLED CAVITY PTFE SEAT

« LOCKING DEVIC

« ISO 5211 DIRECT MOUNTING PAD

. BLOW-OUT PROOF STEM

- T-CLAMP END

« WORKING PRESSURE(CWP) :
DN8~DN50 1000psi
DN65~DN80 800psi

- TEMPERATURE RANGE: -20 to 180°C

LOCKING DEVICE

oK oK1
z4 71
oK1 4
2K S MATERIALS LIST
NO. PART NAME MATERIAL
( 1 BODY ASTM A351 Gr.CF8M
\ ) / 4 BALL ASTM A351 Gr.CF8M
5 STEM Ss316
c 9 END CAP ASTM A351 Gr.CF8M
MATERIALS LIST 12 SEAT PTFE/TFM1600.
NO] _ PART NAME MATERIAL 13 THRUST WASHER PTFE.
1 E/?LDJ ggg':"GA?’m Gr.CFeM 14 STEM PACKING PTFE.
5 STEM SS316 15 GLAND BUSH 55304
9 END CAP ASTM A351 Gr.CF8M 16 HANDLE GLAND $S304
12 SEAT RTFE.
13 THRUST WASHER RTFE. £ HANDLE 55304
14 STEM PACKING RTFE. T 21 HANDLE COVER VINYL GRIP
15 GLAND BUSH SS304 1 22 STEM NUT $5304
19 HANDLE 55304
21 HANDLE COVER VINYL GRIP ! 24 HANDLE NUT 55304
22 STEM NUT 55304 28 LOCKING PAD $S304(OPTION)
24 HégDLEGNUT SS304 HL 29 BELLEVILLE WASHER $5304-CSP
28 LOCKING PAD SS304
29 BELLEVILLE WASHER 5S304-CSP 0 TAB WASHER 55304
30 TAB WASHER SS304 o5 Bw 31 O-RING VITON
31 O-RING VITON 32
32 PACKING FOLLWER PTFE.~25%G.F. P :g%ﬁggffuwm ngm
35 BODY BOLT SS304
36 BOLT WASHER 55304 36 BOLT WASHER $5304
37 BOLT NUT 55304 37 BOLT NUT $5304
DIMENSIONS Unit:mm DIMENSIONS unitmm
SIZE A L E H H1 H4 C K K1 Z-4 |Z1-4| D J
DN15] 1/2" |12.70] 70.9 |112.0] 73.0 | 8.5 | 37.0 | 9.0 | 50.0 | 36.0 | 7.0 | 6.0 | 22.5 | 225 T e Py T 7 M - B e B B B St B
DN20 [ 3/4" [19.05] 80.8 [112.0/ 80.8 | 8.5 [45.0 | 9.0 | 50.0 [36.0 | 7.0 | 6.0 [ 27.5|27.5 2 - ‘ ‘ ' ' ‘ - ‘ ‘ ' : 102
DN25| 1" 125501 905 (13601905 | 114 15351 90 1500 13601 70 | 6.0 | 34.0 | 340 DN20 3/4 200 875 | 1120 | 808 450 8.5 9.0 50.0 36.0 7.0 6.0 191 158
DN40 1 1-1/2"138.201115.31197.91115.3| 14.0 | 748 | 14.0 | 70.0 1 500 ] 9.0 | 7.0 | 52.0 | 52.0 DN25 1 20.0 90 | 1360 | 905 53.5 95 9.0 500 360 7.0 6.0 254 221
DN50 2" 50.801124.01197.9/124.0| 13.7 18351 14.0 | 70.0 | 50.0 9.0 7.0 | 63.5|63.5 DN40 1-1/2" 20.0 1180 197.9 1153 74.8 14.0 14.0 70.0 50.0 9.0 7.0 38.2 348
DNG65 | 2-1/2"63.60[155.0(267.0/155.0| 18.0 |108.8] 17.0 [102.0] 70.0 | 11.0 | 9.0 | 85.5|85.5 DN50 2" 200 | 1317 | 1979 | 1240 | 835 137 140 70.0 50.0 9.0 7.0 50.8 475
DN80| 3" ]76.30]/208.5/267.0/208.5| 18.0 |118.3| 17.0 [102.0] 70.0 | 11.0 | 9.0 [102.0/102.0 DN65 | 2-1/2" | 200 1585 | 2670 | 1550 | 1088 | 180 170 | 1020 | 700 11.0 90 634 60.2
DN100| 4" [101.6]216.7|322.0/216.7| 18.0 |153.8| 17.0 |102.0] 70.0 | 11.0 | 9.0 [128.5/128.5 DN80 3" 200 | 1788 | 2670 | 2085 | 1183 | 180 170 | 1020 | 700 110 90 762 729
DN100 4 200 | 2105 | 3220 | 2167 | 1538 | 180 170 | 1020 | 700 11.0 90 1016 | 974

26 27



GEKO

GEKO

CONTROL-VALVES

GKV-138

THREE-PIECE COMPRESSION ENDS BALL VALVE

GKV-128

FULL PORE TWO-PIECE BALL VALVE SCREWED END

CONTROL-VALVES

GKV-128 3000WOG 6000WOG
« BLOW-OUT PROOF STEM
« WORKING PRESSURE(CWP):DN8~DN50 3000psi/6000psi
- TEMPERATURE RANGE: -20 to 180°C
« LOCKING DEVICE
« PIPE THREAD IN ACCORDANCE
ANSIB1.20.1(NPT)
DIN 259/DIN 2999

Instrumentation Ball Valve

« BLOW-OUT PROOF STEM

* WORKING PRESSURE(CWP) :1000psi
« TEMPERATURE RANGE: -20 to 180°C
« LOCKING DEVIC

28

ISO 228
BSP
PT
oK E @
1
7 7S \
L S v /
MATERIALS LIST ]
| | ITEM PART NAME MATERIAL
S? ) IR 1 BODY CF8M
) \
; 2 END CAP (LOK) CF3M/CF8M
=) T
Diis (@Y 3 BALL CF8M
] M ] 4 SEAM SS316 W
5 SEAT TFM1600/PTFE 55
— s 6 BODY SEAL PTFE.TEFLON @
0 ~ 7 THRUST WASHER PTFE.TEFLON 23 19
/@ 8 STEM PACKING PTFE.TEFLON T 13
= 9 STEM NUT $S304 5
10 HANDLE $S304 14 H
8 1 HANDLE NUT 55304 11 4
7 11A HANDLE WASHER $S304 [
12 BODY BOLT SS304 ©@ ‘ ‘ ‘ *
13 BOLT WASHER SS304 \ \ \ o
[a) — |
aa 14 BOLT NUT $S304 @~ —
SIS 15 HANDLE SLEEVE VINYL \@
16 LOCKING DEICE SS304 Li
S
L1—
L
@ 2(5) 3)Q) )13 1
L
MATERIAL LIST
PART DESCRIPTION MATERIAL
1 BODY ASTM A351 Gr.CF8M
9 END CAP ASTM A351 Gr.CF8M
ASTM A351 Gr.CF8M
DIMENSIONS unitmm DIMENSION(M.M.) 4 BALL '
: ; 5 STEM 55316
SIZE @D BED L c H SIZE DN | A D L L1 H W W W E 1 BODY SEAL PEEK
“ _ 3000WOG 6000WOG ” 5 e DELRIN
L 6 649 65 1030 530 1/4" 8 | 63 . 76 | 380 | 52 [1325 318 1/4“720ur\1c 3 THRUST WASHER —
3/8 10 | 96 76 |380 | 52 |1325 318 1/4"-20UNC " STEM PACKING PEEK
3/8" 75 9.7 65.4 103.0 53.0 12 15 | 127 | 36 | 101 | 500 | 53 |1325 318 1/4"-20UNC 15 GLAND 55316
3/4" 20 | 190 | 42 | 108 | 540 | 685|150 461 1/4"-20UNC 1 HANDLE <304
1/2" 10.2 129 72.2 103.0 58.0 1 25 | 25.0 42 | 115 | 570 |[705 | 150 57.2 1/4"-20UNC 21 HANDLE COVER PLASTIC
1-1/4" 32 | 315 50 | 121 | 60.5 84 | 182 67.8 1/4"-20UNC 2 HANDLE NUT SS 304
3/4"R 150 19.2 76.2 103.0 58.0 112 | 40 [ 370 50 [ 134 [670 | 886182 | 762 | 889 1/4"-20UNC 3 WASHER <5304
2 50 | 370 158 [790 | 90 | 182 | 762 | 889 1/4"-20UN 28 LOCKING PAD $5316
'R 200 2555 854 1280 63.0 e L 50 JAT-20UNC
1/4"~1-1/2" Full bore, 2" Reduced bore

29



GEKO

CONTROL-VALVES

GEKO

GKV-125

FULL PORT TWO-PIECE BALL VALVE SCREWED END

GKV-125L

CONTROL-VALVES FULL PORE TWO-PIECE BALL VALVE SCREWED END

« BLOW-OUT PROOF STEM
« WORKING PRESSURE(CWP):DN8~DN50 1000psi
DN65~DN80 800psi

« TEMPERATURE RANGE: -20 to 180°C

* LOCKING DEVICE

* FACE TO FACE: DIN 3202 M3

« PIPE THREAD IN ACCORDANCE
ANSIB1.20.1(NPT)

» ISO 5211 DIRECT MOUNTING PAD

+ BLOW-OUT PROOF STEM

* WORKING PRESSURE(CWP) :DN8~DN50 1000psi

« TEMPERATURE RANGE: -20 to 180°C

» LOCKING DEVICE

» PIPE THREAD IN ACCORDANCE
ANSIB1.20.1(NPT)
DIN 259/DIN 2999

1SO 228 n DIN 259/DIN 2999
BSP L 1SO 228
PT ' - BSP
PT
oK1 33 72-4
oK 71-4
- 2
— cHsP——
0 A 2 B (
ljw ¢
C MATERIAL LIST
2 E - NO. PART NAME MATERIAL 24
23 1 MATERIAL LIST 1 BODY ASTM A351 Gr.CF8M
20 NO. PART NAME MATERIAL 4 BALL ASTM A351 Gr.CF8M 16
29 19 1 BODY ASTM A351 GrCF8M 5 STEM 55316 5
22 ;‘ SBTAEL’\; /S\Sng{\g A351 Gr.CF8M 9 END CAP ASTM A351 Gr.CF8M
29 9 END CAP ASTM A351 Gr.CF8M 11 BODY SEAL PTFE. 14
11 BODY SEAL PTEFE. 12 SEAT RTFE.
15 H 12 SEAT PTFE. 13 THRUST WASHER PTFE. 13 —
13 THRUST WASHER PTFE. i
32 14 STEM PACKING PTFE. 14 STEM PACKING PTFE. 12
2 15 GLAND BUSH 55304 16 GLAND NUT 55304
19 HANDLE $S304 19 HANDLE 55304 9
@I LG ;21 ;'TAE';\‘AD’&‘ELEOVER :;ggfc 21 HANDLE COVER PLASTIC 1
@/ 23 HANDLE WAHSER SS304 24 HANDLE NUT $S304
PORT 24 HANDLE NUT 5304 27 HANDLE WASHER 55304 4 e—L5 —=
@ 28 LOCKING DEVICE SS304(OPTION) 28 LOCKING DEVICE $S304(OPTION)
29 BELLEVILLE WASHER SUS304-CSP 1 L
= 30 TAB WASHER SS304
31 STEM O-RING VITON
9)(1D (12 e 0 32 PACKING FOLLOWER PTFE.+25GGF
33 STOP PIN $5304
L
DIMENSIONS unitmrm
SIZE PORT L(M3) L L5 E H P
DIMENSIONS unitmm DN8 1/4" 11.5 60.0 54.4 28.2 97.4 50.0 28.5
SIZE PORT L E H C oK oK1 714 724 DN10 3/8" 12.5 60.0 54.4 28.2 97.4 50.0 28.5
DN8 14" 115 653 112.0 72.9 9.0 50.0 36.0 7.0 6.0 DN1S 12" 5o e o5 3 S5 1230 cs s S8.5
DN10 3/8" 125 653 1120 72.9 9.0 50.0 36.0 7.0 6.0
DN20 3/4" 20.0 80.0 77.3 40.2 123.0 62.5 35.0
DN15 12 15.0 653 112.0 72.9 9.0 50.0 36.0 7.0 6.0 /
DN20 3/4" 200 773 112.0 818 9.0 50.0 36.0 7.0 6.0 DN25 1 25.0 90.0 88.7 45.0 145.0 69.3 35.0
DN25 1' 25.0 88.7 136.0 90.5 9.0 50.0 36.0 7.0 6.0 DN32 1-1/4" 32.0 110.0 1024 53.4 145.0 76.0 38.0
DN32 1-1/4" 32.0 1024 185.0 98.0 9.0 50.0 36.0 7.0 6.0 DN40 1-1/2" 38.0 120.0 109.0 60.0 189.0 86.9 38.0
DN40 1-1/2" 38.0 109.0 197.9 114.7 14.0 70.0 50.0 9.0 7.0 DN50 o 50.0 140.0 125.3 69.5 189.0 95.0 38.0
DN50 2 50.0 1253 197.9 124.0 140 70.0 50.0 9.0 7.0 - VT 650 1850 Tos 015 S550 1313 50
DN80 3" 80.0 205.0 189.5 102.7 261.0 140.6 55.0

30

31



GEKD GKV-111

CONTROL-VALVES ONE-PIECE BALL VALVE SCREWED END

GEKDO GKV-126

CONTROL-VALVES TWO-PIECEBALL VALVEMALEEND (FULL PORT/REDUCED PORT)

« BLOW-OUT PROOF STEM « BLOW-OUT PROOFSTEM
« WORKING PRESSURE(CWP) :DN8~DN50 1000psi « WORKING PRESSURE(CWP) :
« TEMPERATURE RANGE: -20 to 180°C DN8~DN50 1000psi (PN 63bar)
+ END CONNECTIONS:MALE END « TEMPERATURE RANGE: -20 to 180°C
» LOCKING DEVICE « PIPE THREAD IN ACCORDANCE
« PIPETHREAD IN ACCORDANCE ANSIB1.20.1(NPT)
ANSIB1.20.1(NPT) — DIN 259/DIN 2999
DIN 259/DIN 2999 ISO 228
I1SO 228 BSP
BSP PT
PT
MATERIALS LIST
NO PART MATERIAL QTY
W 1 BODY SUS 316 1
2 CAP SUS 316 1
3 BALL SUS 316 1 ﬁﬁ E
4 SEAP PTFE 1 &y
9 5 THRUST WASHER PTFE 1
8 6 STEM SUS 316 1
7 7 O RING VTTON 2
g T
i MATERIAL LIST
NO. PART NAME MATERIAL | QTY o7
1 BODY 14408 I 7
< 2 END CAP 1.4408 1
Q 3 BALL CF8M 1 [ |
4 SEAT PTFE 2 6 T
e _;_/F 5 STEM SS316 1 T~
2) 6 THRUST WASHER PTFE. 1 H S
3) L1 7 STEM PACKING PTEE. 1 5 - |
® L 3 GLAND NUT SS304 1 | —] I
9 HANDLE WASHER $S304 1 1 I
10 HANDLE NUT $S304 1 4 d 1 S
11 BODY SEAL PTFE 1 i
12 HANDLE $S304 1
13 HANDLE COVER PLASTIC 1 3 e G} G
14 LOCKING DEVICE $S304 1
DIMENSIONS unitmm 1
SIZE DN OA R DA B L L1 H L1
1/4" 8 8.5 85 69 12 50.0 104
3/8" 10 9.0 9.0 71 12 50.0 104
1/2" 15 11.6 15.0 79 15 56.5 123 DIMENSIONS unitmm
3/4" 20 14.5 20.0 94 18 60.5 123 SIZE d1 L H £ S
1" 25 20.0 25.0 106 20 69.3 145 174" 50 390 2.0 385 17
1-1/4" 32 25.0 32.0 122 22 76.0 145
3/8" 7.2 440 27.0 385 19
1-1/2" 40 32.0 38.0 142 25 845 189
1/2"
2" 50 38.0 50.0 168 28 95.0 189 ! = 202 202 82 2
3/4 125 59.0 285 385 32
@AR:Reduced bore
QABIFUH bore 1" 15.0 71.0 325 38.5 38
1-1/4" 20.0 78.0 36.0 38.5 49
1-1/2" 25.0 83.0 415 38.5 53
2" 32.0 100 47.0 38.5 64

32 33



GEKD GKV-152

CONTROL=VALVES Y-STRAINER CLASS 600 SCREWED END

GEKDO GKV-153

CONTROL-VALVES FULL PORT TWO-PIECE CHECK VALVE

GKV-153 DN8~DN100 (1/4" ~4")
A FULL PORT THREE-PIECE SHECK VALVE
- TEMPERATURE RANGE: -20 to 180C
« END CONNECTIONS:
THREADED END,SOCKET WELD END,BUTT WELD END

« PIPE THREAD IN ACCORDANCE

ANSIB1.20.1(NPT)

DIN 259/DIN 2999

« END CONNECTIONS: THREADED END
» ORKING PRESSURE(CWP): 600WOG B

« TEMPERATURE RANGE: -20 to 180°C
» PIPE THREAD IN ACCORDANCE
ANSIB1.20.1(NPT)
DIN 259/DIN 2999
ISO 228 (G)

H ISO 228
BSPT (PT) BSPT(PT)
BSP (PF) BSP(PF)
O000O0 = 2=
00000
00 0O 4
© 00000
0O000O0 ] ] .
/ / 000000 DIMENSIONS unit:mm
0O000O0 | .
/ 000000 2B
oo MM IN L C
é\o 00000 S I
? 0O000O0
f%o 0000 _— - 8 14" 100 49 | 140
00O
1 2 3 4 5 6 d F 10 3/8" 10.0 49 14.0
S ‘—r_b
15.0 1/2" 14.0 65 18.0
L 20.0 3/4" 18.1 70 220
MATERIALS LIST 25.0 1" 24.2 78 275
NO PART QTY MATERIAL
1 BODY 1 316/304 320 11/4" 30.2 96 320
2 SCREEN 1 316/304
3 BONNET 1 316/304 40.0 11/2" 36.2 102 37.0
4 PACKING 1 PTFE 50.0 o 483 18 | 470
5 PLUG 1 316/304
6 GASKET 1 PTFE 65.0 21/2" 63.0 145 47.0
80.0 3 76.0 156 55.0
DIMENSIONS unitmm 100 4" 98.0 1815 | 70.0
SIZE L H D p d A B
174" 57.0 35.0 10.0 2.0 1.0 16.0 8.0 MATERIALS LIST
3/8" 57.0 35.0 10.0 2.0 1.0 16.0 8.0
. %C — NO. PART NAME STAINLESS STEEL
1/2 61.0 38.0 15.0 2.0. 1.0 16.0 8.0 ) oDy JrEypp—
3/4" 70.0 42.0 20.0 2.0 1.0 16.0 8.0 B END CAP PR —
1 86.0 50.0 25.0 2.0 1.0 20.7 10.0 3 DISC SS 316
1-1/4" 99.0 55.0 32.0 2.0 1.0 25.0 12.0 4 BODY SEAL PTFE
1-1/2" 111.0 59.0 38.0 2.0 1.0 25.0 12.0 5 SPRING 300 SERIES ST. ST.
2" 137.0 73.0 51.0 2.0 1.0 32.0 12.0 6 SPRING HOLDER S5 316
7 WASHER SS 304
2-1/2 172.0 91.0 65.0 2.0 1.0 38.0 15.0
8 NUT SS 304
3" 205.0 110.0 80.0 2.0 1.0 38.0 15.0
9 BOLT SS 304

34 35



GEKO

CONTROL-VALVES

GKA SERIES PNEUMATIC ANGLE SEAT VALVE

Function Principle

Valve is close(open) with spring force,when
the piston is actuated by compressed
air,vavle is open(closed).Forthe double acting
type,the vavle isopen and close by
compressed air.

Technical Data

Applications
m Beer & Drinks Filling Machinery

m Textile Printing&Dyeing

m Gas Industry

= Pharmacy & Medical Equipment
= Chemical Industry

= Disinfection

= Frothing Equipment

= \Water / SewageDisposal

@ Indication Rod(nylon)

(@ Actuator(CF8)

@ Pilot Port(1/8")

@ Stem (AIS1316/304)

(6 Stem Seal (PTFE)

® Cap (PC)

@ Spring(Steel 65Mn)

® Piston(Alu.alloy)

@ Piston Seal(Viton)

40 Seal Spring(AISI304)

(1) Connecting Piece (CF8M / CF8)
(©) Body Seal (PTFE)

(3 Valve core (CF8M / CF8)
(4 Seat (PTFE)

(5 Gasket(AIS1316 / 304)

(1) Body(CF8M / CF8)

Advantages

m| arge Flux,low Resistance,NoWater— hammer

mY-type Shape Enlarged The Flowing section,
which Could Raise The Flux By 30%And Make
Flow More Smooth.

m Super Long Life

= \Which Help The Stem Adjust And Lubricate
Itself Automatically.

m The Cylinder Materialls Stainless Steel.
lubricating Automatically. 360° Rolling Freely.

FIuid Pressure
Control Pressure
Control Fluid
Body Material
Seals Material
Actuator Size

Actuator Size

Applicabliscosity

Fluid Viscosity
Fluid Temperature
Ambient Temperature
ControlType

Connection

Max1. 6MPa (232psi)

0. 3-0. 8MPa (43. 5-116psi)

Neutral gas, Air

CF8M/CF8

PTFE

CF8

40mm, 50mm, 63mm, 90mm, 125mm

Water, Alcohol, 0il, Fuel, Steam, Neutral gas or
liquid, Organic solvent, Acid and lye

Max 600mm2 / s

-10° €~ +180° C, 25° C~ +220° C

-10° €~ +80° C

Normally closed, Normally open, Double acting

Threaded (BSP, BSPT, NPT), Welded, Flanged, Tri—clamp

36

GEKO

CONTROL-VALVES

GKA SERIES PNEUMATIC ANGLE SEAT VALVE

1/8" R
y g 1/8" R
. N
K
g/\v
o .
| [ { G 4% 1
f )\ ‘ J OM25 P16 Gl ®D
T |
L HL
A HA
Threaded Connection Welded Connection
Dimensions
threaded connection welded connection
size [actuator] C R K DIN11850-2 | DIN11850-3 SMS3008
(mm) G T A L sSw HA HL D S D S HA AL D S
40 | 505 | 27 112 124 - - - - - - - - -
DN1 "
%50 [0 [33 [125] %% | @[3 | ® |7 = - | - | -|-|-[1-1-1]-
40 | 505 | 27 112 . 124 118 127
DN15 50 60 33 125 1/2 15 135 68 27 128 70 19 1.5 20 2 138 75 18 1
DN20| 50 60 33 132 | 3/4" 16 140 | 75 32 135 82 23 1.5 24 2 145 95 25 1.2
50 60 33 136 150 150 136
63 75 41 162 172 175 162
1" 17 4 1 2 . 2 1 2 .
DN25 90AL | 112 57 210 215 9 0 216 0o 9 15 30 210 303 12
90 106 55 211 216 218 211
63 | 75 | 41 | 174 190 186 174
DN32| 90AL | 112 | 57 | 220 |11/4"| 21 | 230 | 116 | 50 | 230 | 125 | 35 | 15| 36 | 2 | 220 | 145 |33.7 | 1.2
90 106 55 223 235 232 223
63 75 41 175 190 190 210
DN40| 90AL | 112 57 220 | 11/2| 21 230 | 116 56 232 | 130 | 41 1.5 42 2 252 | 160 | 38 1.2
90 106 55 223 235 235 255
63 75 41 183 205 206 224
232 245 247 263
DNso[ 20AL L 12 | 57 > | 22 138 | 69 155 | 53 | 15| 54 | 2 175 | 51 | 1.2
90 106 55 232 250 250 265
125AL| 148 74 287 294 250 265
90AL | 112 57 262 282 | 178 - - - - - - - - - -
DN65| 90 106 55 265 | 21/2"| 26 | 285 | 178 85 - - - - - - - - - -
125AL| 148 74 302 320 | 178 - - - - - - - - - -
DN80|[125AL| 148 74 313 3" 27 372 | 210 | 100 - - - - - - - - - -

37



%

: —
|
®c

GEKO

CONTROL-VALVES

GKA SERIES PNEUMATIC ANGLE SEAT VALVE

OF
~— PN16
(03 o C
LA A
Flange specifcation:JB/T82.1-1994;ISO/DIN/JIS is also available
Clamp specifcation:ISO 2852-1993, According to customer’s requirements.
Dimensions Dimensions
size |actuator] A B L H E F M N P .
(mm) size  |actuator| D B Cc d L A K
DN15| 50 |160 | 125 | 150 14 |65 |4-914| 16 | 45 | 95 (mm)
DN20| 50 |165 | 132 | 160 14 | 75 |4-4$14| 20 | 56 | 105 DN15 50 34 27.5 19 15 80 140 126
50 |165 | 136
DN25 160 14 | 85 [4-414| 25 | 65 | 115 DN20 50 50.5 | 43.5 25 21 102 148 126
63 |185 | 162
DN32 63 200 | 175 160 16 |100|4-418| 32 | 78 | 140 20 199 10
- DN25 50.5 43.5 32 27 130
90 |245 | 223 63 188 166
DN40 63 |202 | 175 200 16 |110|(4-418| 36 | 84 | 150
90 |246 | 223 " 63 200 ) 174
DN32 50.5 43.5 37 31 146
63 |222 | 183 90 245 223
DN50| 90 |266 | 232 | 230 16 |125|4-4$18| 49 | 100 | 165
125 |315 | 287 63 210 75
DN40 64 56.5 40 33 160
90 |340 | 265 90 255 223
DN65 290 18 |145|4-4$18| 66 | 120 | 185
125 |375 | 302
63 221 185
DN80| 125 |387 | 313 [310/380 20 |160|8-¢18| 78 | 135 | 200 DN50 64 56.5 53 45 175
DN100| 125 [410 | 382 | 350 20 [180|8-¢18| 96 | 155 | 215 90 265 235
38

GEKO

CONTROL-VALVES

APressure Data Sheeet

GKA SERIES FLANGE ENDS ANGLE SEAT VALVE

Single Acting,Normally Closed

(NC)-Enter Above Seat

Single for condensable media,such
as air,steam as air,steam;and low
pressure liquid media.

(NC)-Enter Below Seat (NO
Water—hammer)

Flow come from below seat,avoid
water hammer

size Thread end | Orifice (mm) Kv (m3/h) Actuator (mm) AP(MPa) | Control pressure (MPa) AP (MPa) Control pressure (MPa)
o . 40 0-1.6 0. 3-0. 45 0-1.6 0.3-0. 45
DNTO 6378 13 52 50 0-1.6 0. 3-0. 35 0-1.6 0. 3-0. 35
. 40 0-1.6 0. 3-0. 45 0-1.6 0. 3-0. 45
g il o St 50 0-1.6 0.3-0.35 0-1.6 0.3-0.35
DN20 G3/4" 18 11.5 50 0-1.6 0.3-0.4 0-1.6 0.3-0.4
50 0-1.6 0. 3-0. 45 0-1.6 0.3-0.45
DN25 GL" 24 20.6 63 0-1.6 0.3-0.35 0-1.6 0.3-0.35
90 0-1.6 0. 2-0. 25 0-1.6 0.2-0. 25
DN32 Gl 1/4" 31 30.3 63 0-1.6 0. 3-0. 55 0-1.6 0. 3-0. 55
90 0-1.6 0.2-0. 35 0-1.6 0.2-0. 35
DN40 61 1/2" 35 42.3 63 0-1.6 0. 3-0. 65 0-1.6 0. 3-0. 65
90 0-1.6 0.2-0.4 0-1.6 0.2-0.4
63 0-0.9 0.3-0.7 0-0.9 0.3-0.7
DN50 G2 45 60. 7 90 0-1.6 0.25-0. 45 0-1.6 0.25-0. 45
125 0-1.6 0.2-0.3 0-1.6 0.2-0.3
NG5 62 1/2" 61 90. 5 90 0-1.0 0.2-0.6 0-1.6 0.2-0.6
125 0-1.6 0.2-0.4 0-1.6 0.2-0.4
DN8O G3" 80 135. 1 125 0-1.6 0.2-0.7 0-1.6 0.2-0.7
(NC)-Enter Above Seat (NC)-Enter Below Seat(No
Water—hammer)
q q Single for condensable media,such
Smgle Actlng,NormaIIy Closed as air,steam as air,steam;and low Flow come from belou seat,avoid
pressure liquid media. water hammer,suitable for higher A
[
size Thread end Orifice (mm) Kv (m3/h) Actuator (mm) AP(MPa) | Control pressure (MPa) AP(MPa) | Control pressure (MPa)
. . 40 0-1.1 0.3 0-1.6 =0.3
DN10 63/8 13 5.2 50 0-1.1 0.5 0-1.6 >0.3
. 40 0-1.1 0.3 0-1.6 =0.3
i ez 1 &8 50 0-1.4 0.4 0-1.6 >0.3
DN20 G3/4" 18 11.5 50 0-1.4 0. 45 0-1.6 =0.3
50 0-0. 75 0.45 0-1.3 0.3-0.6
DN25 Gl " 24 20.6 63 0-1.4 0.5 0-1.6 0.3-0.4
90 0-1.4 0.35 0-1.6 0.2-0.3
DN32 6L 1/4" 31 30.3 63 0-0. 6 0.5 0-1.6 0.3-0.6
90 0-1.6 0.6 0-1.6 0.2-0.4
DN4O 6l 12" 35 42.3 63 0-0.5 0.5 0-1.6 0.3-0.7
90 0-1.6 0.6 0-1.6 0.2-0.5
63 0-0. 35 0.5 0-0.8 0.3-0. 75
DN50 G2" 45 60.7 90 0-1.3 0.6 0-1.6 0.2-0.6
125 0-1.6 0.6 0-1.6 0.2-0.4
NG5 G2 1/2" 61 90.5 90 0-0.8 0.6 0-1.1 0.2-0.7
125 0-1.0 0.6 0-1.6 0. 2-0. 55
DN8O G3" 80 135. 1 125 0-0.6 0.6 0-1.6 0. 2-0. 65
DN100 G4 " 90 158. 4 125 0-0. 25 0.6 0-1.2 0.4-0.5

39



GEKO Fluid Control GmbH

CONTROL-VALVES

HIGH PREEESURE BALL VALVE'PRODUCT DESCRIPTION
# Maximum pressure: 20000PSI<br>

% Connection standard:DNIS0228, ANSIB1.20.1. DIN2353L. DIN2353S. SAEJ514<br>
# Seal material: NBR, FPM, POM<br>

2/2 WAY HIGH PREEESURE BALL VALVE (SCREWED END)

E— T
— BKH/BKHP420
PN25-50 MPa
DN4-25/40

BKH g____. MKHP420/MKH
PN25-50 MPa - PN31.5-42 MPa

DN4-25/40 i\ ) : DN32-50
(carbon { carbon steel ) (carbon steel/
steel/stainless stesl) stainless steel)
2/2 WAY HIGH PREEESURE BALL VALVE (WELD END)
BKH-AS MKHP-AS [ MKH-AS
PN16 MPa g PN16 MPa
DMN10-25/40 I DMN32-50/65
{ carbon steel/ (carbon steel/
stainless steel) stainless steel)

2/2 WAY HIGH PREEESURE BALL VALVE (SAE FLANGED END)

MKHR-SAE/ MKHP-SAEFS /

MKH-SAE Nl shes 3 KH-SAE
PN21-42 MPa — PN21-42 MPa g"-'..'(;; Metric thread
DN32-50/65 — E_E R €. _‘;/ PN21/42 MPa

( carbon (Earben e DN15-80 (carbon
steel/stainless steel) steel/stainless steel steel)

3/2 WAY HIGH PREEESURE BALL VALVE

BK3

PN31.5-50 MPa

DN4-50
{carbon steel )

BK3K-SAE 3KH

PN42 MPa ' . PN25-50 MPa
DN13-50 . DN4-25/40
Ih {carbon steel ) (carbon

steel/stainless steel)

3\

40

GEKO

CONTROL-VALVES Cryogenic Valve

MODEL NO:GKV-134D / 3PC Cryogenic valve---threaded, butt weld, socket weld / 3PC DIRECT MOUNT BALL VALVE
‘ﬂ .

&t
-

1/4"-2"2000 PSI,
2-1/2"-4"1000PSI

e FACE TO FACE COMPLIES WITH DIN3202-M3 S13 e BODY WORKING PRESSURE:2000 PSI
e EACH INTGRATED ISO-5211 MOUNTING PAD e SIZE:1/4"-2" (DE8-DN50)
e SQUARE STEM CAN BE WITH DIRECT MOUNT WITHOUT e TEST PRESSURE

BRACKET/ADAPTOR SEAT(AIR) : 80PSI

e STEM IS WITH BLOW-OUT PROOF DESIGN AS WELL AS SHELL(HYDROSTATIC) : 3000PSI
ANTI-STATIC DEVICE ® BODY WORKING PRESSURE : 1000 PSI

e VITON O-RING ON STEM GIVES EXTRA SUPPORT AND e SIZE :2-1/2"-4" (DN65-DN100)
ASSURANCE OF TIGHTNESS. e TEST PRESSURE

e STEM SEALISWITH 45 ANGLE AGAINST STEM,WHICH SEAT(AIR) : BOPSI

INCREASES TIGHTING EFFECT.
e EXCEPT ACTUATING SERVICE ,HANDLE LEVER IS
AVAILABLE FOR MANUAL OPEATION.

SHELL(HYDROSTATIC) : 1500PSI

MODEL NO : GKV-225D / 2PC Cryogenic valve---Flange / 2PC BALL VALVE

A

1/2'-4"150LB. . DN15-DN50
PN10/40. DN65-DN100 PN10/16

® BLOW-OUT PROOF STEM. e WIDE RANGE OF SEAT MATERIAL SELECTION .
e BUILT-IN ISO 5211 MOUNTING PAD (SEE CATALOG BV SEAT CATALOG)
FOR EASY AUTOMATION. e HEAVY DUTY BODY & END CAP CONSTRUCTION WITH

® ANTI-STATIC DEVICES FOR BALL-STEM-BODY. TRACEABLE HEAT NUMBER.
e SEMI-ENCAPSULATED BALL SEATS FOR e PRESSURE BALANCE HOLE IN BALL SLOT.

COLD FLOW RESISTANCE.
e BODY WORKING PRESSURE : 150LB BUILT UP
e S|ZE: 1/2"-4" ® V/ITON O-RING ON STEM GIVES EXTRA SUPPORT
® BODY WORKING PRESSURE : PN10/40 AND ASSURANCE OF TIGHTNESS.
® SIZE : DN15-DN50
® BODY WORKING PRESSURE : PN10/16

® S|ZE : DN65-DN100

41

e PRESSURE SELF RELIEF SEAT TO PREVENT PRESSURE



GEKO

CONTROL-VALVES

High Purity Clean Ball Valve

MODEL NO : GKV-32T/B 3PC HIGH PURITY CLEAN BALL VALVE

1/2"-4" 1000PSI
3PC High Purity Clean Ball Valve-TUBE. SCH5. SCH10

® BLOW-OUT PROOF STEM.

1/2"-4" 1000PSI .
3PC High Purity Clean Ball Valve-T-CLAMP

® HIGH PURITY CLEANING OIL FREE AND

® BUILT-IN ISO5211 MOUNTING PAD FOR EASY AUTOMATION  pack

e STRALGHT TRUE PORT FOR UNINTERRUPTED FLOW
MEDIA THRU THE VALVE

e FULL PORT FOR TUBING BUTT-WELD

® BOSSES FOR PURGE CONNECTIONS ARE BUILT INTO
BODY AND CAP FOR SIP/CIP OPERATIONS

ING.
e VITON O-RING ON STEM GIVES EXTRA

SUPPORT AND ASSURANCE OF
TIGHTNESS.
e BODY WORKING PRESSURE : 1000 PSI
(PN64 )

® ALL WETTED PARTS ARE POLISHED TO 180 GRIT RMS 051 ¢ gj7E - 1/2_4* (DN15-DN100)

TO 0.64 MICRON
® SWING-OUT 3PC DESIGN FOR EASY FIELD
MAINTENANCW,

e AlLL EXTEND WELD ENDS IN SS316L MATERIAL ALLOWS

ORBITAL WELDING IN PLACE.

MODEL NO : GKV-33W/T/B/L 3PC BALL VALVE

1/4"-4 1000PSI 1/4"-4 1000PSI
3PC Direct Mount 3PC High Purity Clean Ball
Ball Valve-threaded, Valve-TUBE. SCH5, SCH10

butt weld, socket weld

e BLOW-OUT PROOF STEM

e STAINLESS STEEL BALL AND STEM ARE STANDARD

e PRECISION INVESTMENT CAST BODY AND CAPS

® EASY INSTALLATION WITH WIDE SELECTION OF END
FITTINGS

® THREE-PIECE SWING-OUT DESIGN ALLOWS IN-LINE
MAINTENANCE

e FULL PORT ORIFICE MINIMIZES PRESSURE DROP
ACROSS THE PIPELINE

e HELIUM LEAKAGE TEST-INTERNAL<10-5,
EXTERNAL<10-6.

42

e TEST PRESSURE
SEAT(AIR) : 80PSI

SHELL(HYDROSTATIC) : 1500PSI

1/4"-4" 1000PSI
3PC High Purity Clean
Ball Valve-T-CLAMP

1/4"-1"RP 1000PSI
3PC Metric Inch LOK

e SELF-ADJUSTING FLOATING BALL
ENABLES TIGHT INTERNAL SEAL
e BODY WORKING PRESSURE : 1000 PSI

(PN64)
e SIZE : 1/4"-4" (DN 8-DN100)
TEST PRESSURE

SEAT(AIR) : 80PSI
SHELL(HYDROSTATIC) : 1500PSI

e TEST HAVE PASSED ON METAL
INDUSTRY RESEARCH AND
DEVELOPMENT CENTER"HELIUM
LEAKAGE TEST".

GEKO

CONTROL-VALVES High Purity Clean Ball Valve

MODEL NO : GKV-36W / 3PC DIRECT MOUNT Ball Valve-TUBE. SCH5. SCH10

1/2"-2" 2000PSI

e TEST PRESSURE
SEAT(AIR) : 80PSI
SHELL(HYDROSTATIC) : 3000PSI

® FACE TO FACE COMPLIES WITH DIN3202-M3 S13
EACH INTGRATED ISO-5211 MOUNTING PAD
e SQUARE STEM CAN BE WITH DIRECT MOUNT WITHOUT

BRACKET/ADAPTOR ® | SIZE:1/2"-4" (DN65-DN100)

e STEM IS WITH BLOW-OUT PROOF DESIGN AS WELL AS ® BODY WORKING PRESSURE :
ANTI-STATIC DEVICE 1000 PSI

e VITON O-RING ON STEM GIVES EXTRA SUPPORT AND e TEST PRESSURE
ASSURANCE OF TIGHTNESS. SEAT(AIR) : 80PSI

e STEM SEAL IS WITH 45 ANGLE AGAINST STEM,WHICH SHELL(HYDROSTATIC) : 1500PSI
INCREASES TIGHTING EFFECT . ® SIZE:5"-6" (DN125-DN150 )

e EXCEPT ACTUATING SERVICE , HANDLE LEVER IS e BODY WORKING PRESSURE :
AVAILABLE FOR MANUAL OPERATION . 720 PSI

e BODY WORKING PRESSURE : 2000 PSI
® SIZE:1/2"-2" (DN15-DN50)
& BODY WORKING PRESSURE : 2000 PSI

e TEST PRESSURE
SEAT(AIR) : 80PSI
SHELL(HYDROSTATIC) : 1100PSI

Valve components processing

3 T
9?& oéag

Germany DMU 60T MONO BLOCK Five-axis processor Germany 835V MONO BLOCK Four-axis processor
Germany 635V MONO BLOCK Three-axis processor ~ CNC lathes processor 2.5D Image testing machine




